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Foreword
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The more you sing, the sweeter your song becomes; the more you sing, the best singer you

become. Neem-leaf taste changes from bitter to better if you are regularly used to it. So, practice
consistently to become what you want, to get what you want"- Yogi Vemana. There is no such task
difficult if you practice, great works come from hard work.In Mathematics, practicing the exercises
plays a vital role to concrete the concepts. The key concepts that a student learns in a classroom
situation will be concretised if they keep practicing. Definitely this book is helpful in getting the mastery
over the concepts.

Worksheets of this workbook are in continuation to the textual exercises are more child friendly
as well as teacher friendly to deal with multi-class teaching. The number of worksheets is equal to the
number of periods allotted for that unit. Each worksheet consists minimum of 5 problems based on real
life situations by following the strategy of simple to complex. Especially word-problems are given
importance to inculcate the interest among the learners. Student has to do the worksheets on his own,
because work book is individual activity.

Semester system is going to be implemented from this academic year for classes 1 to 5.
Mathematics workbooks have been developed in bilingual approach. The language used in this book is
simple so that the students canread, understand and analyse the problems by their own. Teacher needs
to support the students whenever it is necessary. At the end of each unit, an assessment sheet is provided.
With the help of these assessment worksheets we can easily evaluate a student to know how well he is
grasping the concepts. It is also a powerful tool for self-assessment. By using these worksheets children
can have mastery over the concepts.

We are grateful to Honourable Chief Minister SriY.S.Jagan Mohan Reddy for being our source
of inspiration to carry out this extensive reform in the education department. We extend our gratitide to
Sri Botcha Satyanarayana, Honourable Minister of Education , Govt. of Andhra Pradesh for striving
towards qualitative education. Our special thanks to Sri. Budithi Rajsekhar, IAS, Special Chief Secretary,
School Education, Sri. S. Suresh Kumar, [AS, Commissioner of School Education & State Project
Director, SS, Smt. Vetriselvi.K, IAS, Special Officer, English Medium Project for their constant
motivation and guidance.

We convey our thanks to the expert team. We also thank our workbook writers, editors, artists
and layout designers for their contribution in the development of this workbook. We invite constructive
feedback from the teachers and parents in the further refinement ofthe workbook.

Dr. B. Pratap Reddy
Director
SCERT, Andhra Pradesh
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Instructions to Teachers

New Text Books O Below Link e
A{ ¢ This workbook is compﬂeqL i;eft qu $ E&Qz@%‘gﬁ@b eoélg)nlcnepts learnt in the classroom.

¢ Teachers need to understand that the number of worksheets are equal to the total number of
periods for every unit.

¢ Every worksheet is designed to help the students to practice the concepts learnt in that respective
period.

¢ First 45 minutes for concept teaching and remaining 45 minutes are allotted for the worksheet.
If more time needed, let the learners make use of the leisure time at home to complete the
worksheet exercises.

¢ The main objective of this workbook is to make the children to work individually rather than in
groups.

¢ Here the teacher acts as facilitator and helps the learner whenever it is necessary.

¢ This workbook will be helpful for multigrade teaching. Period transaction for one class and
worksheet exercises for another class. It is a powerful tool to counter the timemanagement
problems of multi-grade teaching.

¢  Worksheets concretise and make perfect understanding of the key concepts learnt in the
classroom. It is very crucial in Teaching Learning Process.

¢ It is helpful for the teacher to identify the areas where the learners need additional support
and thus teachers can work for remedial coaching. It is mandatory to check the worksheet
solutions and do signature.

¢  Worksheets are constructively designed by keeping in mind the levels of the learners and the
strategies followed are simple to complex, known to unknown, and speed and accuracy.

¢  Worksheets can be helpful for the students for selflearning and it is a great tool for teacher to
assess the students for Formative Assessments in CCE.

¢ At the end of every unit, an Assessment Worksheet is provided to evaluate the student. It is
helpful to estimate the learning levels of the students and to know how well they involve in
Teaching-Learning Process and grasping the concepts.

Instructions to the parents:

¢  Workbooks are given in addition to the textbooks for more practice.

¢ The exercises of the worksheets will be solved in the classrooms by the students, if they need
some more time, they will complete the balance of the work at home.

¢ It is not only helpful for the teachers to know the students’ learning levels but also helpful for
the parents to know their children’s progress.

¢ Parents can bring the difficulties faced by their kids while solving the problems at home to
the notice of the teachers.

¢ Worksheets are complementary to the concepts thought in the classroom and it should not be
done before completion of the period transaction. Parents should not force their children to
complete the sheets prior to the period-transactions.

¢  Workbook is to make the Teaching-Learning Process fruitful if you are also committed to

encourage your children in a suggested way.

Based on the remark of the teacher at the end of the page the performence of the student may

be understood. '

ALL THE BEST . SRR

A
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Pupil will be able to

= Recall place value of 3 digit numbers.

«¢  Recall addition and subtraction of 2 digit numbers.

= Multiply and divide 2 digit numbers by 1 digit number.

Unit 2: Numbers
Pupil will be able to
= Read and write the numbers up to 9999 in an order.
Identify and write the Face and Place value of the four digit numbers up to 9999.
Write four digit numbers in expanded and short formup to 9999.
Compare any two 4-digit numbers by using symbols (<, =, >).
Arrange the given four digit numbers in ascending and descending order.
Form all the possible four digit numbers for any given 4-digits and arrange the numbers.
Round the numbers to nearest thousands.
Show the numbers on the number line.

LN JEE TR TR R BRI

Use the 4-digit concept in daily life.
Unit 3: Additions
Pupil will be able to
¢  Addition of2 digit numbers in different methods.
(Adding and joining etc.).
= Addition of 3 — digit numbers.
¢ Oral and word problems on Addition fromreal life situations.
Unit 4: Subtraction
Pupil will be able to
¢ Subtract 3 digit number from a 3 digit number.

= Solve Word problems onreal life situations.
¢ Solve problems on mental calculations involving 2 digit Subtraction.
¢ Do subtraction by estimation.
Unit 5: Multiplication
Pupil will be able to
= multiply a 2 digit number with one digit number with grouping and regrouping.

>  recall the concept 'How many times'.

= multiply 2 digit number with 2 digit number.
= multiply 3 digit number with 1 digit number.
«¢  recall the vocabularyused in multiplication.
S
S
"

Solve problems with grouping and regrouping.
form tables from 6th to 9th.

vii
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Class (sotie) - 3

Semester (a0g0) - 1

Numbers

‘éoa:egw

Subtraction 72-97

8238
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https://amaravathiteacher.com https://amaravathiteacher.com



1. Count sticks and write their numbers (8o& Hyodo 88 od Logge Teahod.)

/

4
// /

/

7
J

R
D
R

-

o

v/
Vi
7 n N
/4 Y/

4 ¢ ¢

2. Colour the number cards suitable to given number. (87 Sogrgsre Sotbes Hckod.)

10 =

20 =

50 =

40

10 10
10 10
10 10
10 10

10 10
10 10
10 10
10 10

Average

qI!I!D
lamarava

hitedcher.co

Good

©
m

Excellent

10 10
10 10
10 10
10 10

Signature of the Teacher



Sub Topic:

1.Write these numbers in figures. The first one is done for you. (Xoggen o°abod)

Writing Numbers fromwords to numerals.
(Hogred Swre 08 wo8ed® orabio)

Seven (&)

2

Fourteen (Sdm=)entd)

Twenty nine (283 &0)

Eighty two (238 3o)

One hundred and thirteen (e.8 $o& H5&5000%)

Two hundred (8o Hoen)

Two hundred and ninety nine (8ot Hode &og &)

Three hundred and seventy eight (5t Sode Bgh) HIHE)

Four hundred and sixty seven (meentd Sofe @83 &)

Five hundred and ninety nine (2t Sode &0z &ayd)

Six hundred and five (s& Sode ©&H)

Eight hundred and eighty three (22086 Sofe K58 $omed)

Nine hundred and fifty one (&6 Sofe oz e.8&)

Poor

Fair Average Good Excellent

& © 0 4.9
http aravathit r.com Signature of the Teacher




Sub Topic :

Writing Numbers from words to numerals
(‘éospege:é: > f;éé's 2238R8XE0 HodAs» 2603:5@26: 3’30‘3&0.)

1. Match the following. (Hosge 883 $&rmrares® adsssod)

6

713

307

64

570

284

291

Seven hundred and thirteen (¢ SoBe He550°¢0)
Sixty four (983 eenid)

SiX (%)

Five hundred and seventy (st Sose 3g))

Three hundred and seven (S0 Sode D)

Two hundred and ninety one (Bo&k Koo &og a8&)

Two hundred and eighty four (3o SoBe 88 Teend)

2. Circle the smallest number in each line. The first one is done for you.

(B8 @&3 S50 08 LAY doggH Qo) '&’)D%O&. 288 Hst%o ToHha838.)

A)
B)
C)
D)
E)
F)
G)

H)

290
548
575
567
302
417
817

234

47 @

90 109
372 285
734 648
373 352
596 724
756 871
325 116

h¥ps+//amaravathitedcher.com Signature of the Teacher

Average Good Excellent



WORKSHEET : 4

Sub Toplc Order of the numbers (sosyge S8 Léé:é:o)l

1. Write the after number. (&g & Rogy TPahol.)

2. Write the before number. (Swod Hogy oeahod.)
20 309 600

3. Write between number. (Bogs Bogg Toohol.)

O

i o
’ @ ‘ http aravathigr.com Signature of the Teacher

Poor Fair Average Good Excellent




Or i b ’
mim Expanded form of numbers sosge D8 &ro) I

Fill in the blanks. (gr9e% $r80P0a.)

50

'H 'H
| o
\_/

)
WAVAVAVANYANVAN,

oo
O o ~ (@) o1 o w
RO =) | BRI 1 Ia) Bk

WA,

000000000

O
O
O
O
O
O
O
O

‘@

o

°

|
a

Signature of the Teacher



1.

SilomKee][ Shortened form of numbers (%083 sxo) I

Write the shortened form for the given numbers. (a2)S Sogge® $o8s drdo T°ahod.)

a. 30+1 s
b. 4045 T
c. 400+20+8 e
d. 500+0+9 T
e. 600+40+7 T

f. 600+70+4 S,

. 800+50+2 =

(=]

Match the follwing. (8c& =& egS8X08.)

A B
a. 325 100+70+3
b. 173 927
c. 900+20+7 400+30
d. 430 90+ 6

e. 96 300+20+5

6.0 6 6.9 o
https:/ vathiteach&re6m http aravathit r.com Signature of the Teacher

Poor

Fair Average Good Excellent



ﬂ’m Facevalue and placevalues @seens - Fs2e) I

1. Write the placevalue of the underlined digit in the following. (8o A& AcHadS
®08 BwE) @5263)@26263 o°0%08. )

a. 14 . placevalueofl : .............. b. . placevalueof8 : ...............
1 3;63)@25 ................. 8 3;63)@25 STTTTRRPT
c. 231 : placevalueof2 : ............... d. 356 : placevalueof5 : ...............
2 3;63)@25 ................. 5 3;63)@25 SPTTTRRUPT
e. 458 : placevalueof5 : ............... f. 577 . placevalueof 7 : ................
5 3;63)@25 ................. 7 3;63)@25 STTTTRRPT
2. Complete the table:
Number (Sogg) | Digit (wos) | Facevalue ($seasdensd) Placevalue(a(;zéo")e»é)
56 5
6
845 8
4
5
678 6
7
8
908 9
0
8

°© 6 ¢ 996
r'amarava hiteacher.com

Poor

Fair

Average

Good

Signature of the Teacher

Excellent




S{Uom[e]e][ Comparison of numbers (Sogge 280%)

1. Circle the biggest number (28 ¢ Sogg &) ok, .88 %o Uahodod.):

a3 (5 d) 100 30
b) 2 10 e) 150 200
c) 20 30 f) 500 678

Circle the smallest number (98 %) Sogpg &) Hiod.) :

a) 5 10 e) 156 228
b) 60 90 f) 700 500
c) 100 10 g) 458 900
d) 190 120 h) 328 823

Use suitable symbols (<, >, =) to compare the numbers. &3S Hen (<, >, =)

&3ReAoD 80 Soggos @’30‘30&.)

a5 [ ] 2 e100 [ ] 90
by 10 [ | 30 f)156 [ | 256
)48 [ ] 79 g)628 [ | 628
des [ ] 45 hyo4s [ ] 990

¢ @.9.9 °
o http aravathit r.com Signature of the Teacher

Fair Average Good Excellent




e e 1. Let's Recall -
............ rAnﬁa_ﬁ;.!m{hhsm Lj :

SINelel[ Ascending and Descending order eg'ses go - o585 Léaé:ol

1. Arrange the following numbers in Ascending order . (£8%e Eos® (8o Soggei
oY)ek.)

a) 5,39

Ascending order (s8%5e (Es00) =

b) 10, 40, 20

Ascending order (s8%5e (Es00) =

c) 56, 156, 98

Ascending order (s8%5e (Es00) =

2. Arrange the following numbers in Descending order. (808 Hoggols ©358%5e
[BRoos® eodyod.)

a) 40, 90, 20

Descending order (e58%5es (E00) =

b) 128, 456, 80

Descending order (e58%5es (Eo0) =

c) 756, 900, 386

Descending order (956%5es (E00) =

© 0 ¢ 9. 9.0
h¥ps#/amaravathife4cher.com Signature of the Teacher

Poor Fair Average Good Excellent




1. Let's
WORKSHEET : 9 R

or A -

3. Arrange the following numbers into Ascending and Descending order. (8o&
Sogods wiien Ho%n w3t ke Eires® vkted.)

a) 10, 70, 80, 20

Ascending order (s&%e (E500)

Descending order (e5&8%5re (E550)

b) 128, 763, 546, 999

Ascending order (s&%e (E500)

Descending order (905855 (E550)

c) 156, 864, 42, 794

Ascending order (&8s (E500)

Descending order (95855 (E00) =

d) 30, 694, 236, 115

Ascending order (s&%e (E500)

Descending order (e58%5e (E0) =

] Q... 0 @
o http aravathit r.com Signature of the Teacher



e e 1. Let's Recall -
e i AGEN—

Addition of 2 digit with 1 digit numbers (2 eose Soagee® .8 wos
Qdogy Er&E)

1. Do the additions. (Zr&%e» Fc%od.)

2. Do the following. (os &2 Zckod).

a |T @) by | T |O c)|[T |O d|T | O
4 3 7 8 5 |2
+ 3 + + 8 +
e) T O f) T O 9| T |O h) T O
7 0 8 5 6 9 2
+ 6 + 4 + +

3. Circle the correct answer. ($88 3&rerael8 ‘07 HH¢od.)

a) 26 + 1 = 28 271 29
b) 42 + 4 = 44 47 46
) 70 + 7 = 77 70 80
d) 97 + 2 = 20 99 72

°© 09 E.Q0
h#ps//amaravathifedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



1. Do the following. (8o& B%Hes Bahod.)

2. Do the following. (os &2 Zckod).

ay|T |O
3 9

+ 1

d) T @]
6

+

b)

0] c)| T [O
4 |7 S
4 +
T |o T [ O
7 8 | 2
+ 6

3. Do the following and write the answers in words.

a) Fifty six + Eight =
(053 &% + AALB)

c) Sixty seven + Five =
(@53 Do + 0)

e) Thirty two + Four =
2533?33‘3 Bo& +arenid)

b) Seventy three + Seven =
(ag) Kooty +8H)

d) Eighty nine + Nine =
(58 & + &6 )

f)  Twenty one + Six =
(283 288 + o )

) ©
htt:@aravathit r.com Signature of the Teacher

Good Excellent



1. Do the following. @od& =82 Zcood).

& a Y P
A A A A

2. Do the following. (8o =& Fch0d)

a)

d)

3. Complete the table. (3883 $réoSod.)

Slilsmpeel [ Addition of 2-digit nUMDbers (2 eo8e Sogges® 2 ©oBe Koy EraY) I

T |0
2 9
2 9
T |0
4 8
3

b)

+

+

45

32

56

38

40

25

Poor

Fair

Average

T O
3 | 4
3 |7
T ©)
3) 7
2 4

Good

o © 0.6.O
r'amarava hiteacher.com

Excellent

o O

o O

Signature of the Teacher




S{i[omKe)o][e Addition of 2 digit numbers with 1 digit, 2 digit numbers
(0% S 358" &ra¥)

1. Do the following and write the sum in flower pots. (&%gen Feod Hre ol &t

2PN TOPSHod.)

=

49+26 51+29

34+16

g O g g

@ @ .9.0 ©
o http aravathit r.com Signature of the Teacher

Poor Fair Average Good Excellent




e e 1. Let's Recall T
............ A||ﬁ)@%ﬂ&5)ﬁm Lj :

Sub Topic : Rl ge! brdblems on Addition (»&53 oo 8%e) I

1. Do the following Problems. 8c& =& r&obod.)
a) Ravi had 5 marbles and Raju had 3 marbles. How many marbles are there in total ?

8D 55 5 Moo, Toer 58 3 A0en axmow. B0 H¢ Ao A ARen aIon?

T ) O ()

Ravi had marbles (58 $& Ko f58e0) =

Raju had marbles (cees ¢ e #%@en)

(+)

Total marbles (Z»go F*&en) =

b)  Passengers are there in the bus. 6 more get on. How many passengers are there in the bus
now ? (aa“m“)e’is 9 Hood @’Jo‘ﬁﬁs%éae» SIND. @BH0rT 6 1HS X)) @S‘Z&. BIPED ao‘é:a“)é‘s
IwBo Dod HH0d (Hoirden aTNH?)

T) O (=)

Passengers in the bus (2x)&® Ko (Hosrden)

get on passengers (ossorr &S (HoirddHen )

(+)

Total Passenger (Bngo (SairdHen) =

© 0 e.o08
htps://amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent




c)

d)

There are 12 Blue fish and 15 Orange fish are in an aquarium. How many fish are
there in total. (2.3 @9'53‘560‘5)065 12 oo Boih BHew, 15 ©BoE BorHp Bden ET)00.

@500t Bwdo I Bven Gaow ?)

Number of Blue fish (Yoo Sork Sden)

Number of Orange fish (8o Sord Sden)

Total fish Fogo Bden)

T) O ()

(+)

In a basket, there are 24 Mangoes, 38 Guavas. How many fruits are there in the
basket (2.8 ané36® 24 S0d Hoty, 38 ePHoLy sTHO. & S Fngo A B

&0 ?)

Mongoes (580 Hoty) =

Guavas (e $50&) =

Total Friuts (Rwgo $H06y) =

@xﬂ QD
http aravathit r.com

T O (=)

Signature of the Teacher



e e 1. Let's Recall -

SRl (8 Subtraction of 1-digit number from 2-digit number (é?o:%éea)l

1. Do the Subtractions. ($238en TcsHo&.)

2. Do the following. os =82 Fcko&.)

8 4 6 b) 5 9 ) 65 d 78 e 78
-4 - 5 -3 - 5 -7

3. Subtract the following. One is done for you. (8o& &23gex Bchold. 2.88 & %o

Dhad38.)
- 2 3 4 5 - 1 2 3 4
56 54 48
67 36
78 74
89 93

ARBs~/amaravathifedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



SRl (S ubtraction of 1-digit number from 2-digit number (éa?o:-Séea)I

1. Do the following. (8c& =& Fc%08&.)

2. Do the following. (Bod =82 Fcko&.)

a) T |O b) T |lo C) T |O
2 2 2 3
- 8 _ -
d) T |o e) T |o f) T |O
4 5 | 1 6
- 7 _ 3 -
h) 0 Q) T |O ) T |O
6 6 7| 4
i i - 5

@ @ .98 °
o : http aravathit r.com Signature of the Teacher

Poor Fair Average Good Excellent



e e 1. Let's Recall -
............ rAllﬁaé;mw Lj : |

SRS Subtraction of 2 - digit numbers from 2 - digit Numbers |}

1. Do the following subtractions. (8c& &23den Hokol.)

40 54 57 71
-25 -17 -28 -33

2. Do the following. (8o =& Fc%08&.)

At lol|l PlT O Altlo| DT o0

>
7|2 7|2 8 |1 85
-
=

o 0T .90
h¥ps#/amaravathlieacher.com Signature of the Teacher

Poor Fair Average Good Excellent




WORKSHEET : 1.8

SiiemKele][eld \erification of subtraction by addition

1. Verify the answer by addition. (zsrad Er8% mrgoe $08rE04.)

a) T |O bl Tt | o
5 |5 T |O 3 | 2 T |O
- - 4 | 4 —r-
+ 1111 o +
5 5
C) T |O d) T |O
0 T @) 8 T 0O
- — - 1 -
+ +
e) O f) T |O
T |O T |O
- — ) —
+ +

o © @ .0..9 o
’ http aravathit r.com

_ Signature of the Teacher
Poor Fair Average Good Excellent



m:m Word problems (s Bézp:)l

Do the following.

1. Astory book has 68 pages. Out of them, 24 pages are with pictures. How many pages
are there without pictures? (e.8 8o H3808° 68 Hden samow. FBE* 24 Lfed® Digren

Gamom. DEres 8 wden AY?)

What is there in the problem (55806 3o Sogy) =

In the problem, what refers to 24 ($5%:%56° 24 GBI BewH&Hod?) =

What do we find in the problem (g5 $o%56° 9O 88%5°97?)

2. A rose flower merchant had 60 roses. He sold 28 roses to school children. How many
roses are left with him now? (.8 $re ao5ar0 3¢ 60 &P Sren GINOW. FETO 1YL

28 &% reo w8, 5os® A B Freo B 58 RO eTmon?)
Number of roses with the merchant (25208 $& Ko & Hro Sogg) =
Number of roses he sold (25278 @y &% Gro Sogy) =

What is the operation to do (2 K& (B(8a% Toe & Sogd FHod) =

O O O O O
o @® & @ S
https+//amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



3.

In a toy shop, cost of an aeroplane toy is ~ 75 and cost of a car toy is =~ 45. Find which
toy is more costly and by how much? (.8 &&ye seod®, 2.8 Dirso &dyle ~ 75,
S &8y S T 45 0 GIon. S P88 Hirto FiyRe Jod AEND?)

Cost of an aeroplane toy (&S0 FPsySe) S 75

~

Cost of a car toy (o0 &5y o) = 45

Which is more costly (@2 3o d%%) =

~

How much more cost (Qo& %) = 75 — " 45

There are 62 pupils in a class. Out of these, 34 are boys. How many girls are there in
the class? (.8 $518&° 62 hod Hughen GIND. BOHE® 34 Hob erenth. & SKAS®

2POEen Do Hoh?)

T)|[0 ()

B ®
htt@waravathi er.com Signature of the Teacher



(B8 eosrord8 Bosed PEjo TPahol KoBuk waren Tehol. )

For each multiplication, write the addition fact. And write the answer.

Multiplication
1OEaseS0

Repeated addition
583 Yoo

Answer

2300720

3 x4

4+4+4

12

5x2

4 x 10

ox1

3x8

5x5

Nl Rl INMIE

7x3

b. Match the following. (g38)0&.)

A

2x3

2+2+2+2

2x4

5+5+5

4+4+4+4

Poor

Fair

B

4+4

3x5

3+3

Average Good

® © 0.4.0
r'amarava hitedcher.com

Excellent

Signature of the Teacher



Do the following.

4
x 0

4
x 1

1
x 3

(8ol BHeo Dchod.)

2
X 4
3
x 5
4
x 0

1
x 0
6
x 0
1
x 2

Order of multiplication. (iese8 (Ek0.)

) [00©

In 2 groups each group with

3
x 1
2
x 0
0
x 2

Look at the pictures. (Do SrEod.)

buttons.

(2 DS a8 (DS Ko olen

Total number of buttons

o Hoben

@ ©

Poor

Fair

Average

aravathi

!!I!I!

Excellent

Signature of the Teacher



S{islrefe][dd Simple multiplications and word problems (esseores $08ck Siigen)

1. Find the multiplication fact. (8c& thesseoren Hcho&?)

a. 12

x 2

11

x5

Poor

12

x 3

11

x4

13

x 2

13

x 3

Good

10

x 2

10

x5

® © 0.4.0
r'amarava hitedcher.com

Signature of the Teacher



2. Do the following. (8c& 8% Tchod.)

a. There are 30 eggs in a carton. How many eggs are there in 2 such cartons?
(&8 g (B 30 95y BoDd. 2 (Bos® Q) Ky sotran?)
Sol:  Number of eggs in a carton (.8 (E&° Ke g Sosg) =
Number of cartons (&e Soag) =
Number of eggs in a carton x number of cartons =
(a8 @'3&35 B HE ‘éosp?s X @ [5) éosp?s)

Total number of eggs @Ewgo 53) =

b. Anil has 4 packets of biscuits. Each packet contains 12 biscuits. Find the total number
of biscuits? (&S &8 4 Hyl RgBen aTow. 2.89%) FBES® 12 Sty eTED. S
3G Ko Iwdo e IY?)

Number of packets (r8¢e Hosy) =

Number of biscuits in one packet (.8 J8¢56° Ko O Sogy) =

Number of packets x number of biscuits in a packet =
P8 Kogy X e.8% 3;3@6565 Ko e Hogy

Total number of biscuits (Rwgo Ayey Sosyg) =

¢ @ .Cl.a ®
o http aravathit r.com Signature of the Teacher




Ex: a)6+2

6 -2=4
4 -2 =2
2-2=0
b) 8 « 4
8+ 4=
c) 9 + 3
9 + 3=
d 12 + 4
12 4= ]
e) 15 =+ 5
5 ¢ 5= |

~\H O D oD
4 r'amarava hitedcher.com

Average Good Excellent

Signature of the Teacher



T R 1. Let's Recall e

SR o][3 Simple divisions  (geistso) |

1. a) 4+2= 2) 4 ( 1x 1 =1 2Xx 1= 2 3x 1= 3
1x 2 =2 2X 2= 4 3X 2= 6
1x 3=3 2X 3= 6 3x 3= 9
1x 4=4 2X 4= 8 3X 4=12
b) 6+3= 3) 6 ( 1x 5=5 2x 5=10 3x 5=15
1x 6 =6 2X 6=12 3X 6=18
1x 7=7 2x 7=14 3x 7=21
1x 8 =8 2Xx 8=16 3x 8=24
c) 6=+4= 4) 6 ( 1x 9=9 2x 9=18 3x 9=27
1x10 =10 2x10=20 3x10 =30
4x 1= 4 5x 1= 5 6Xx 1= 6
B 4x 2= 8 5x 2=10 6Xx 2=12
d) 95 %) 9 ( 4x 3=12 5x 3=15 6x 3=18
4x 4=16 5x 4=20 6X 4=24
4x 5=20 5x 5=25 6x 5=30
4x 6=24 5x 6=30 6x 6=236
€) 6+4= 6) 4 ( | 4ax 7228 |5x 7=35| |6x 7=42
4x 8= 32 5x 8=140 6x 8=148
4x 9= 36 5x 9=145 6Xx 9=5H4
4 x10 = 40 5x 10 = 50 6 x 10 = 60
f) 8+7= 7) 8 (
77X 1= 7 8x 1= 8 9x 1= 9
77X 2=14 8x 2=16 9x 2=18
7x 3=21 8x 3=24 9x 3=27
g 12+8= 8) 12 ( 7x 4=28 8x 4=232 9x 4=36
7x 5=35 8x 5=140 9x 5=45
7X 6=42 8x 6=148 9x 6=54
77X 7=49 8Xx 7=56 9x 7=063
h) 15+9= 9) 15 ( 7x 8=56 8x 8=064 9x 8=72
7x 9=063 8x 9=172 9x 9=81
7x10 =70 8 x 10 = 80 9x10 =90

@ @ 4.9 @
o https-Jamaravathit r.com Signature of the Teacher

Poor Fair Average Good Excellent



SVsMelo][d \Word Problems @ 8ges) I

1. Ramya has 6 pencils with her. She distributed equally to her three friends. How many

pencils each one will get? 8xog $& 6 28 aTEw. B E3 KK YRS A
BEmS0me HoDB, 2808 ) 1Y) SFow ?

Sol:  Number of pencils () ©osx)

Number of friends (y3»&e Sosy)

Number of pencils each will get number of pencils + number of friends

(8808 SYAley YY) Dogys) (33(‘\)“)@;) Logy + fo&gwééae Kogy)

2. Jaya divided 8 players into 4 teams equally. How many players will be there in each

team? (205 8 5008 etrrgs 4 HErS wiyre BRob. 2898 etnd® Ko wtrry) Sogg Jos?)
Sol:  Number of players (séxrg Sogy) =

Number of teams (a:&y Sosy) =

Players in each team = Number of players + Number of teams

898 &&}86‘5 Ko seored) Ko o ey + e Ko

°©o oY 8L0
h#ps//amaravathifedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



3. Balu divided 18 balls equally between 2 groups. How many balls are there in each

group? (18 208 eren 2 2285 DEPKorT HoDIETE. e.EE) 236 BN oen X)?)

Sol:  Number of balls (2o&e Sogg) =

Number of groups (e:¢y Somy) =

Number of balls got by each group Number of balls + Number of groups

&?&é& aae%géa B 200&H© éoaoeg = 200&0® éosp?g ) ‘éoapeg

4. Manu has 32 dolls in 4 colours equally. How many number of dolls are there for each

colour. (% tﬁféé 32 23%63&@ 4 602%6: Jdedome €200, aﬁ"&é& BoHS® Ko ﬁDéO&Q)

AN?)

Sol:  Number of dolls (&&ye Sos)

Number of colours (Sorbe Sogy)

Number of dolls in each colour

.58 Bops® Ke B Sosyg = = =

@ ©

) ©
htt:@aravathit r.com Signature of the Teacher



e 1. Let's Recall R e

Division of 2 digit number by 1 digit number (2 ec3e Homgs 1 ©c3
éoa:egésarﬁ?’.ﬁéo)
A) 12+3= 312 ( 1x 1=1 2x 1= 2| [3x 1= 3
1x 2 =2 2X 2= 4 3X 2= 6
1x 3=3 2X 3= 6 3x 3= 9
1x 4=4 2X 4= 8 3Xx 4=12
B) 18+3= 3) 1 8 ( 1x 5=5 2x 5=10 3x 5=15
1x 6 =6 2X 6=12 3Xx 6=18
1x 7 =17 2X 7=14 3x 7=21
1x 8 =28 2X 8=16 3x 8=24
1x 9=9 2X 9=18 3x 9=27
C) 16+2= 2) 16 ( 1x10 =10 2x10=20 3x10 =30
4x 1= 4 5x 1= 5 6x 1= 6
4x 2= 8 5x 2=10 6Xx 2=12
4x 3=12 5x 3=15 6x 3=18
D) 14+2= 2) 14 ( 4x 4=16 5x 4=20 6Xx 4=24
4x 5=20 5x 5=25 6x 5=230
4x 6=24 5x 6=230 6X 6=236
4x 7=28 5x 7=35 6X 7=42
4x 8= 32 5x 8=40 6 X 8=148
E) 18+2= 2) 18 ( 4x 9=36 5x 9=45 6Xx 9=54
4x10 = 40 5x10 =50 6 x 10 = 60
77X 1= 7 8x 1= 8 9x 1= 9
77X 2=14 8x 2=16 9x 2=18
F) 20+4= 4) 20 ( 7x 3=21 8x 3=24 9x 3=27
77X 4=28 8x 4=32 9x 4=36
7x 5=35 8x 5=140 9x 5=45
77X 6=42 8Xx 6=48 9x 6=54
G) 32+3= 3) 32 ( 77X 7=49 8x 7=056 9x 7=163
7X 8=56 8x 8=64 9x 8=72
7X 9=63 8x 9=72 9x 9=281
7x10 =70 8 x10 = 80 9x10=90

o0 ¢ e.9.08
htps://amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



SN Numbers (Soaseo) |

1. Reading, writing and comparing 3 digit numbers. (3 @o8e Soggeh StHdaro, Torro,
SB35 83803‘)0'30.)

162 326 273 184

680 204 127 95

744 827 951 516

In the above table, can you find (3 988 egedorr 88%08. )

a)

b)

d)

A number between 100 and 150 (100 o0& 150 &g Ko Koz d&?)

A number between 900 and 1000 (900 £ro& 1000 g Ko Sogy &)

A number smaller than 100 ? (100 &%) Q%) Soay 2&7?)

A number between 300 and 400 ? (300 £oo& 400 g e Sogy 267 )

A number that has 6 tens ? (666305526068 6 Ko Dogg A&?)

A number that has 5 ones ?  (e.8¢ 308" 5 Ko Kogy D6?)

\ E

) ®
htt:@aravathit r.com Signature of the Teacher

Fair Average Good Excellent



SR Numbers (sozses)|

1. Colour the numbers as directed (x>0 Do SoHen ScHod) :

18 9 1000 5
4 1250 457 92
1925 | 990 8 132
250 55 1124 | 23
1 - digit number (2.8 @08 Sogy) - Green

2 - digit numbers (Boose Hosy) -

3 - digit numbers (Sor&oBo Sogy) - Blue

4 - digit numbers (zrgoSe Kogy) - Brown

2. Write the missing numbers in the number chart (Soars S35 arbed® Sogges T°aHod ),

1111 | 1112 | 1113 1120

1124

1135

1143 1149

1155 1160

o @ @ @ @
Rps/amaravathitedcher.com

Poor Fair Average Good Excellent

Signature of the Teacher



3. Write the numbers between 1200 and 1230 inan order. (1200 £r0& 1230 £&% Sogged
Lééooé‘s o°c08.)

4. Fill in the blanks (gr8en r803508).

a)

b)

10 (3&)
10 ones (10 e8¢ ) e
3 tens (3 Heoew) e
9 tens (9 Heoen) TR T PSP PRTRPP
10 tens (10 $&hen) e
20 tens (20 $Heoen) s
10 hundreds (L10S80Be0 ) = covviieiieee e

httpsillatharavathitsa@ier.com  Signature of the Teacher



SR Numbers (sozses)|

1.Write the numbers as directed (epge egrdorre Soggy Teahod.) !

S. No Blocks Thousands | Hundreds | Tens Ones | Number
Jen Sofen | Dhen |eBey | Qdogyg
1. 1 2 2 8 1228
2.
3.

S @

Poor

Good

) D ol:l
r'amarava hitedcher.com

Excellent

Signature of the Teacher




SR Small formation of 4 - digit number (4 eose Sogges 36366)&3)'

1. Select the spike abacus to the number 5102. (5102 & ¥003 @ersd L $H8oPod.)

2. Draw the beads on the following spike abacus for numbers given below.
(2338 Jogyge errdore, P adpds el Sgos® AchHod.)
a) 5005 b) 5055 c) 5050 d) 5555

3. Observe the following spike abacus and write the numbers in the given boxes.
(aaﬁcgaac%zé e Hgrood Koo, Kost Loggeo o°0n0&.)

4. Write the names of the numbers. (a5w@&s Soage wETred® Trabod.)

a) 6984 -
b) 5489 -
c) 8745 -

o . http.uaravathlgr com Signature of the Teacher

Poor Average Good Excellent



S{i[o ool [ 4-digit Numbers (4-eocze ‘éoa:age»)l

1. Observe the following pictures and write down the price of things in words.
~ 5000 ~ 8925

1986

b) C) d)
Q) RUPBES et
D) RUPEES et e e
C)  RUPBES oottt e e
Q) RUPBES ettt e e e e

2. Write the number and number name by observing beads on the abacus. (s5w@&s e
S208% Frdve wrrdorr Soag KHBod & Joggh wETres® Teahod.)

a) b)

© 0 ¢ e.9.0
h¥ps+//amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



3. Read the number names and write in numbers. (95orod® Ko Soagd SO, Sogrgsrso
o°0n0&.)

a) Two thousand five hundred and thirty six
(Bo Fo 0 Sode 5633'@ . )

b) Four thousand eight hundred and fifty

(TPe0ih Fo VM Sode airz.)

¢) Six thousand two hundred and nine

8% Jo Bod Sode §°§b&&.

d) Eight thousand and three hundred
(DA T LaretHdosen. )
f)  Nine thousand and nine =

(0 S0 &0. )

K e ®
’ http aravathit r.com Signature of the Teacher

Poor Fair Average Good Excellent



S{i[oM ool (88 Numbers (Boggen)

1. Read and write 4-digit numbers. (4 eo8e Soggeis $KHod, Techod.)

Thousands | Hundreds |Tens | Ones | Number| Read as
Sen Soden  [Heden | aBey Koy ogoros®
Ex: 2 3 4 5 2345 | Two thousand three hundred
and forty five. o Se
Soeeddolie Jez sth)
6 5 1 0
5 6 0 0
3 8 7 3
4 ) 0 1

2. Find the place value of each of the digits in the given numbers. (@3w&s Sogges® &

®08 BE) 3(;263)@)56 ééags&o&.)

a) 8764
ex : Place value of 8
8 XwE) PLQenH
[)
Place value of 7
7 Qw8 PLQend
[)
Place value of 6
6 XE) PLQenH
[)
Place value of 4

4 Qo8 3{;263)&)&6

8 thousands

8 Sew

8000
8000

® @ © 0.5.0
h¥ps+//amaravathitedcher.com Signature of the Teacher

Good Excellent

Poor Fair

Average




Choose the correct answer (385 e:aend> $H80S08).

1)  Which of the following number has 9 thousands? (9 Se» Ko Somg 26?) ()
A) 5900 B) 8496 C) 9250 D) 1539

2) What s the place value of 5 in 3567 ? (35676° 5 Gw¥) S denss 36 ?) ()

A) 5000 B) 500 C) 50 D) 5
Put a circle for the number with ........... (@gadS P Densd eprdore & $BF HoagH
Qo) 153%30& ............. )
a) 7 in thousands place G $0&® 7) — 9752 6597 7563
b) 5inones place (e8¢ a(;;soesﬁ ‘5) — 2450 3524 1005
c) O0intens place (B a(;;soesﬁ ‘0) — 4526 5407 4036
d) 3inhundreds place (Sose 3526065 ‘) — 6430 5329 6789

) @
htt:@aravathit r.com Signature of the Teacher



e 2. Numbers S —
e S — S = o] CIassgs NWOpen Below Link

ﬂim Expanded form and short form 2$ses, %088 sraren) I

1. Match the following. (e:8558%0&.)

Expanded form (2X8es 8r0) shortened form (K085 o)
a) 4000 +200+60+3 2816
b) 8000 +400+5 9030
c) 9000 + 30 4263
d) 2000 +800 +10+6 8405

2. Write each of the following in expanded form as shown below. (98es G508 Toobhod.)

a) 1034 = 1thousand + O hundreds+ 3tens + 4 ones.
(13omg + 0 Hosen + 3 den + 42.8e0.)
= 1000 +0 + 30 + 4
b) 3508 =
c) 5670 =

3. Write the following numbers in short form. (o8 =& $083) Erdo Teabod.)
a) 1000 + 100+10+1 =
b) 2000 + 60 +4 =

c) 5000 + 4 =
4. Choose the correct answer.
a) Five thousands + Fifty (soth3en + oS3 ) = ( )
A) 5050 B) 50050 C) 5500 D) 5005
b) The expanded form of 3333 is ___ (3333 &@w¥) d8es &rrdo) ( )
A) 3000 + 33+ 3 B) 3000 + 333
C) 3000 + 300 + 33 D) 3000 + 300 + 30 + 3

e 0 ¢ &6
R#ps+/amaravathiiedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



Eim Comparison of the numbers (Sogges Qse:ot)éa)l

1. Circle the large number in each pair of the following. (3¢ Soggd w8oSod.)

a) 456 372 d) 456 654
b) 2400 1500 e) 2504 2540
c) 1000 100 f) 1001 1100

Compare the numbers and insert appropriate symbol '<' or'>"' or '=' inthe box given
below. R8es® 85 g ed@rhoBod. )

a) 211 [ 221 b) 423 [ | 542 c) 452 [ | 326

d) 2932|2964  e) 3192 [ | 3082  f) 3227 [ | 3228

Observe the following figures. Write the numbers according to pictures and use the
proper symbol. ( <, >, =) (8od dgreds H68DoBod. erHe wrrsorr Koggwd TR
( <,>, =) 058 Pood)

Y @.9.8 ®
httpsillanaravathiteaier.com  Signature of the Teacher

Average Good Excellent




SUde/oJ[(B8 Comparison of the numbers (Sogges Sbexyes) I

Compare the numbers and insert appropriate symbol ( <, > or =) in the box given

below. (235&$ KHee® ¥BS ke (<, >, =) o edIBPA0D, 8od Soggedy FPeod.)

a) 210 () 201 b) 254 () 548 c) 654 () 457

d) 908 ( ) 809 e) 758 () 1477 f) 2187 () 2817

g) 3251 () 3452 h) 5454 () 6385 i) 5526 () 5562

2) Which one is a big number in 386 and 5247 (386, 524 o&® 2& & Soag?)

Q

3) How can you tell 4265 more or less than 43657 (4265, 4365 E0& 56 / DB © oo

DD ?)

® § © 0.5.0
h¥ps+//amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



4) Vijay has ~ 4500 and Kishore has ~ 4100. Who has more money? (Des®» ¢~ 4500,
85886 3G " 4100 e 60d. DO D BN Ky od?)

5) Sitaiah could produce 2000 bags of paddy where as Rangaiah could produce 2500
bags of paddy. Who produced less?  (8asy 2000 exdee grgod, Soriasy 2500 exdee
5080 HOBoDTB. BB BEYS P50 Dofoirdd ?)

Y @ .28 ®
- https://afaravathit r.com Signature of the Teacher



E’m Ascending and Descending order (s&8sees, 085885 (Ebren) I

1. a) Arrange the following in descending order in the given boxes. (o0& Soggedn

&5 (Eod® )0k, )
5596 5432 5500 5655 5900

b)
7590 2395 1999 3490 2650

. Arrange the following numbers both in ascending and descending orders. (8o& Soggeso
8%rer, 0588 tézﬁaoé‘s @253630&.)
2500 7200 3250 1050 9700

Ascending order (s&%5e (E500)

Descending order (e58%e (E500)

Use the suitable symbols ( <, >) inthe blanks. (8o& Soggeots 68%5ren, ©58%rn [Eirod®

@2536‘30&.)
a) 3860 —— 4520 5050 —— 5432 6214
b) 9420 —— 8536 1422 7322 5500

© & ¢ 996
h¥ps#/amaravathife4cher.com Signature of the Teacher
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E’m Ascending and Descending order (s&8sees, 085885 (Ebren) I

1.

@ ©

Poor

Observe the following table and write names of objects in ascending and descending
orders according to their price. (8o adg&s HGES 588900, $NHO DD T §8
egedorr etin, @St (EHos® tcahos.)

S.No Name of the object (5:555) Price (3v)
1 Television ~ 9500
2 Fan 1000
3 Cot 1250
4 Bicycle © 450

a) Name of the objects in ascending order of prices. (590 & @&%ren Eos®)

b) Name of the objects in descending order of prices. (5o D) @565 Eros®)

Arrange the following numbers in ascending and descending order. (808 Sogge o
855, 0588 [Edrod® ©08)0d.)
a) 2135, 2581, 4587, 3698, 5879
Ascending order (s&5%5es (E550)
Descending order (©5&8%5re (E500)
b) 4068, 6048, 8064, 4086, 6084
Ascending order (s&%re E550)
Descending order (©5&8%5re (E500)
c) 1101, 1011, 1110, 1001, 1000
Ascending order (s&%5res (E550)
Descending order (©58%5re (E500)

CRNEHI ) @
’ http aravathit r.com Signature of the Teacher
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IV oMo oI [SRl NUMDbers in words (Sogges ofores® oahiso) I

1. Circle the following numbers in the chart given below and write their number names.
The first one is done for you. (Sogged egored® ocoabod. e88 b %0 Tchadss.
o805 Dogged HBoN DI wHeos?)

Number (Sosy) Number name (Sogyg egoros®)

4867 Four thousand eight hundred and sixty seven.
3202

4052

7851

3356

7 8 5 3 4 8 6 7 5

4 2 0 4 (0 1 2 1 8

3 3 5 6 3 2 0 2 3

4 1 7 8 7 2 9 3) 4

2. Whoam | ? (35 2583 ?)

a) My ones digit is four. (0 2.8¢& a(;;soes% ®08 Tenitd.)
My tens digit is five. (7> Dehe IS @08 0.
I am a two digit number . Who am | ?
(30 &8 2 @08 Hoggd, AL 3% ?)

b) My ones digit is five. (> a8t PS8 @08 wk.)
My tens digit is two. (70 H&e @;260@3’520 08 B0K.)
My hundreds digit is zero. (x> Soe agzéoes% ®08 %).)
| am the number (D&% 3 )

®@ @ O Q..0
athiteacher.com Signature of the Teacher

Poor Fair Avera.ge Good Excellent




SV oMo/ oIR8 \V/riting NUMbErs (Sogges ooashio) I

Write the number that has 6 tens, 3 ones, 7 hundreds and 4 thousands. (43e», 7 Sodex,
6 e, 3 a8 e Koz o°0n0&.)

Th H T @)

Sen S %) 2

(inwords / egores®)

Write any ten 4 digit numbers using the digits 2,7,8 and 3. (2,7,8 £08d%» 3o
SODrA0D, IZT® DO 4 ©oSw Koggen TADHOE. )

Arrange the above numbers in both ascending and descending order. (3 Soage wt*res,
05855 (Edos® )0,

Fill in the number chart with numbers in the order. (%% Ddoggen Teahod.)

5051 | 5052

5100

K e ®
’ http aravathit r.com Signature of the Teacher
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Sub Topic Smallest and largest numbers

1. Write largest and smallest 4-digit numbers using the given digits.

Digits Largest number Smallest number

©®OoSen 8)0%&6) ?gtg Qdogy 8)0%&8) DY) Dogy

1,3,5 4

3,912

5,6,7,3

98,60

2. Observe the following table and answer the questions. The population of different
villages in Bukkapatnam mandal as per 2011 census is shown below. (8o& =:5&S

SRS 568909, esaranen TocHod. 2011 aargP BE)© (D5°80 20E)HEN0 508008 (rrdre

239°83°.)

Name of the village (esoo %) Population (esseer)
Agraharam (eo|555850) 3381
Kothakota (&°&8%¢.) 4634
Marala (Soore) 4143
Krishnapatnam (gsen0) 3086

© 0 ¢ e.9.0
h¥ps+//amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent



b)

d)

)

——————————————————————— | 2 Numbers
e AR P A CIESSES NWOpen BElOW .. S

Which is the most populated village in Bukkapatnam Mandal ?

E)HEN0 HoKkeos® &N ergr Ko [P0 d&?

Which is the least populated village in Bukkapatnam Mandal ?

B)HEN0 Hokeos® LN eTrer Ko ([P0 d6?

Identify the villages with a population of less than 4000?

4000 B0& AN argre Ko (Pre WwEy Teabod.

Agraharam population is near to this (580 (& amrge Bod TIS® & SoggH
55 GoB.) ( )

A) 3300 B) 3400 C) 3500 D) 3600

K @
@ http aravathitsagher.com Signature of the Teacher



E’m Self Assessment (&ges £805) I

1. Write the following number names in numerals. (8o& @gored® Ko Soggen woSed®

o°on0o&.)

a) Three thousand six hundred and twenty four. (S o e Soke a8z TeeniD.)

b)  Six thousand and forty three. (s%3e Sz Hox.)

c) Four thousand one hundred and sixteen. (mrexthde a8 S0 HSESD)

d) Seven thousand two hundred and fifty six. (&3 Bok Hose dF &)

2. Write the place value of the underlined digit. (A ARS ©08 FDens ceabod.)

a) 6370 e) 7013
b) 7123 f) 2679
c) 6380 g) 6013
d) 7523 h) 2674

© & ¢ 9.2.0
Jamaravathifedcher.com Signature of the Teacher
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e e e e e e e i 2.Numbers N e e S e e e e e

3. Freedom fighters of India and their birth years. (Sesgo(&y $o8@Brehen, T HES

BoDETen.)

Name of the freedom fighter Birth year
Bo(Es DHBEBrHO DL DES SoNEyBo
Mahatma Gandhi (@) eod) 1869
Jawaharlal Nehru (2855°8erS IJ(g5oe) 1889

Dr. B.R. AmbedKar (w56 &.e8.008%)5) 1891
Bhagath Singh (g55& 20f) 1901

Write the birth years of the freedom fighters in ascending and descending order.
23 a8 Jod@ oot 68irn, 05t ke Eros® Trehod.

Ascending order (es&%es (E0)

Descending order (©58%5re (E00)

@ @ .. ®
’ http aravathit r.com Signature of the Teacher



. Write >,<, = which ever is applicable. (335 i0hed >,<, = 6d&@rAod, 8od Sogge
2ol FP)od.)

a) 2400 4002
b) 423 7431

c) 6730 6730
d) 3330 3303

Match the following. (e:858)0&.)

a) 4326 8000 + 300 + 40 + 2
b) 5207 4000 + 300 + 20 + 6
c) 8342 8000 + 300 + 20 + 4
d) 8324 5000 + 200 + 0 + 7

Make any five 4 digit numbers using 2, 3, 6 and 8. (2,3,6 £805» 8 ©&° TreniH woBe
Doggeon DD WonBOBY TPAH0&.

Observe the abacus and write the suitable number. (8o& e Sgreds $8890), Sogge
o°ono&.)

8.5.90
h¥ps:/amaravathitedcher.com Signature of the Teacher
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3.Addition

or All Classes NeWs Open Below Ljnk

2 - digits numbers addition (2 ecse togge &rag) |
1. Do the below additions. (8o& gr&%es Fchod.)
a) 66 b) 7 4 c) 27 d 45
+ 31 +13 +55 +18

2. Do the following. (Bo& &»&8es Zc%08.)

a[T[oO b)[ T ][O o [T o d[T[oO
3|6 10 4 |5 1|2
1|0 2 [0 2 |8 3 (3

+ 3 + 3 0 + 5 + 4 5

3. Fill in the blanks. (9% $reo$od.)

a) 28+33

b) 39+13

c) 64+17

d) 11+22+37

e) 40+50+9

R W ®
O http aravathit r.com Signature of the Teacher
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S{ilslrefe] [ Addition of 2 - digit numbers (2 o8 Sogge é:v&é)l

1. Do the following. (8o 8% BcHod.)

a 75

+35 +7 4

2. Do the following. (808 &r&8en ScH08.)

al] T| O
2|5
3| 2
+ | 7

3. Write the numbers for given number names and do the addition. (958 &»kos® K

b) 6 8

b)

c) 55

T O
3|3
4| 4

+1 3

TR Doggenrr T, Erl Sz BT, )

a) Seventy + Eighty

ag) + 958

b) Forty four + Sixty five

doz Trenrd + ol th

°© 0 ¢ 9.9.6
r'amarava hiteacher.com

Good

Poor Fair

Average

d) 34
+9 6
T|O
5 | 4
1|9
+ |5

e) 63
+49
d T| O
219
1| 2
+3 | 6

Excellent

Signature of the Teacher




c) Thirty four + Ninety five = + =

L0y Teeord + &0 o

d) Ninety + Ten = + =
&0g + 16
e) Eighty + Seventy seven = + =

5P + 3P Do

Do the following.(80& &3 IcHod.)

a) 98+ 35 =

b) 68+ 72+18

httpsslamaravathit r.com Signature of the Teacher
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s 3.Additi0n ey
- TR S LR ¢ All Classes Ne&SJa@&Ss Open Below Ljok =~

SRR Addition of 3 - digit with 1 - digit numbers &2s) |
1. Do the following. @9 Ic%cd).

HTO HTO HTO HT O
a 1 0 0 b) 3 2 0 ) 4 5 0 d 7 0 0
+ 5 + 7 + 8 + 9

2. Using number line, do the following. ($cgr=Se ¢d@rAcd 8ob BHes Babod.)

357358359 |360| 361 |362||363||364| 365||366 367|368 369|370

H T O H T O H T O H T O

a 3 6 0 b) 3 6 1 c) 3 6 3 d 3 5 7
+ 6 + 4 + 5 + |:|

3 5 9

3. Do the following : (29 Zc%08).
a) 534 +2 = b) 587 +6 = c) 698 +5= d) 763 +4=

4. \Write the answers in the blanks. (9o &® saranes TPabhod).

a) ‘5’morethan360 (360 8o 5 QIS Kogyg) =

b) ‘“7”morethan 722 (722 Sa7) 7 d&38 Sosgyg)

c) ‘I’morethan162 (162 83 1 &S5 Hosys)

© 0T .0
h¥ps/amaravathife4cher.com Signature of the Teacher
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3.Addition

or All Classes Nems Open Below Ljnk

SIRLTETH Addition of 3 - digit with 2 - digit numbers &) |
1. Do the following. &9 ZIc%cd).

HTO HTO HTO HT O
a 1 2 3 b) 3 5 0 ) 4 6 9 d 7 8 6
+ 4 5 + 20 + 30 + 1 3

2. Match the following. (es8558508&. )

120+6 337
646+52 999
333+4 126
541+44 698
900+99 585

3. Complete the puzzle. ($25& $reRcHoa.)

500 + 25 =

4. Do these : (29 FcHo8&.)
a) 127+87 b) 270+42 ¢) 342+16 d) 369+14

'@ © 9.9 ®
o http aravathit r.com Signature of the Teacher
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S{ilolrefo][eM Addition of 3 - digit with 3 - digit numbers (3 eose Soage ém?sé)l

1. Do the following. (Bo& &r&gen Zc%0s.)

HTO HTO HTO HT O
a) 2 3 4 b) 3 0 0 c) 4 5 0 d) 7 1 5
+6 0 0 1 6 2 2 3 0 2 6 4

Find and write the missing numbers in boxes. Fxgo smedore Hbeld dodolk.)

H T O H T O H T O H T O

a) 3 7 7 b) [] 1 [] c) 4 2 [ ] d) [ ][ ][]
+6 ][] *4 5 3 O 0]

. At Nelapattu bird sanctuary, there are 390 Flamingoes and 215 Pelicans. How many
birds are there? Now children answer the following questions. (Fee $§ Sctgrrochos®
390 RMWoh SFen, 215 PO SPen aTon. Indo IR JHew ©HE GINoN?)

a) What information is given? (& $&roedo syt ?)

© 0T OO
h¥ps#/amaravathlieacher.com Signature of the Teacher
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b)  What you have to find? (& 850850 ?)

c)  Which process do you follow to solve? (& ©8c% areoe Ssorgd FHosHs) ?)

d) Total number of birds (Rngo $He Sogg) =

Yaswanth have = 315 his mother gave him = 250 now how much amount Yaswanth
have? (ch¥508 o T 815 e, hes Y oy 0308 T 250 adyr SN @8 5%
&) Py d08?)

Y @ .28 ®
- https://afaravathit r.com Signature of the Teacher



SV Me/o][B Addition - word problems (&5 - $& $sigen) I

1. In a dairy farm, there are 135 cows and 120 buffaloes. How many cattle are there

altogether ? (2.8 36ar&¢&® 135 een, 120 aBen eTmon. @B Ko o HHHe AY?)

H T O
Number of cows (sHe Sogy) = 1 3 5
Number of buffaloes (2@e Sosy) = + /1, 2|0
Total number of cattle (Rwgo H&HHew) =

Total number of cattle (Swgo H$&HHen)

No of cows + no of buffaloes

SRS éozpeg + 28 éosp?g

135+ 120 =

2 A fisherman caught 324 fish in a day. Next day he caught 112 more fish than previous

day. How many fish he caught on second day? (2.88%s ered 324 Tben HERETHD.

08058 BPer, Hnotntler Bo&S 112 SEVRY DHen éeq;én. Bo&S e exed ééé FHen aQ?)

Number of fish caught in a day (Bws® 8% S8 BHeo) =
Number of more fish caught on the second day =
Boks & eddone DS BHen

Total number of fish caught on the second day =

Boks & HBS Ingo BHen

® @® O @ ()
h¥ps://amaravathifedcher.com

Poor Fair Average Good Excellent
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4.

In a kite festival, people flew 112 red coloured kites, 120 blue coloured kites and 133

green kites. How many kites are there in total ? (® $ere Soknard 112 B o
Heren, 120 Do o md Heren, 5H805» 133 VDY) MO Heren NHER L. 0B o

AR MODETPeD ADHESE°8?)

In the garden 116 mango trees 95 coconut trees are there. How many total trees in the

garden. (2.8 8%¢&° 116 $rd By, 95 Sand Bey eamow. @ 8°0&° &) Ivgo Béxy AN?)

https://amaravathiteacher.com



ﬂiMddition of 3-digitwith 1 - digit numbers (carry forward) |

1. Do the following (29 Jc%08&.)

o L L L o L L L L L S o o s oS 3.Addition e e e e e e e e e e e e ppupent
____________ WORKSHEET -7 P _____ gl Classgs Nems Open Below Ljnk P S

HTO HTO HTO HT O
a 2 8 3 b) 5 6 7 ) 7 4 5 d 8 9 6
+ 9 + 7 + 8 +

2. Do the following (29 Zc%08.)
a)| H| T |O | H| T O o|H| T|O d|H|T|O

3. Do the following additions. (29 Jc%08&.)
a) 963+9 b) 357+7 c) 753+8 d) 955+6

4. Write the answer in the blanks. (gr@e&® $brgrares TooHod.)

a) ‘8" more than 454 (454 8o& ‘& QENS Ko Dogy) =

b) ‘4’morethan 758 (758 %08 ‘4 &N Ke Do) =

c) ‘I’morethan 369 (369 %o& ‘I’ &S Ko Dogy) =

d) ‘5" more than 876 (876 %08 ‘F Q&N Ko Kogg) =

X oW
h#tps#/amaravathifedcher.com Signature of the Teacher
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3.Addition

ﬂimddition of 3 - digitwith 2 - digit numbers (carry forward) |

1. Do the following. (=9 ZcHo&.)

or All Classes Nems Open Below Ljnk

a)[H[ T [0 by H[T [0 olH[T[oO d/H[T[oO
5027 6|3 |4 8|18 8|96
+ |56 + |49 + |33 + 5|7

2. Do the following. (29 Jc%08&.)

HTO HTO HTO HT O
a 2 8 9 b) 4 7 5 ) 6 9 3 d 9 3 2
+ 15 + 6 6 + 3 8 + 4 9

3. Identify the correct answer and circle it. ($35 $&rgrdo &%, Q & gosod.)

a) 365+17 = 372 382 392

b) 543+87 = 620 530 630

C) 729+73 = 802 702 792

d) 944+46 = 980 990 970
4. Do the following. (29 ZIc%08.)

a) 285+36= b) 365+ 19= c) 420+ 85 =

K ®
’ http aravathit r.com Signature of the Teacher

Poor Fair Average Good Excellent



SoTIIoIoIoIoooeo oo __-_---oo- ‘ 3.Additi0n e
::::::::::::_________________________________‘_ Classe_s Nems OPENBEIOWASINENNNR et

Jepposi[ Addition of 3 - digit numbers (x&r8)28° 8 wose Sogge &ra%) I

1. Do the following. (29 Zc%08.)

a)|H| T |0 b)| H| T |0 o)|H| T |O d|/H|T|O
2134 41216 53 |7 6|2 |2
+ 168 + 367 {266 +/ 2118

2. Do the following. (29 ZcHo&.)

HTO HTO HTO HT O
a 3 7 7 b) 8 2 9 c) 6 1 7 d 7 0 3
+6 6 6 +3 7 4 +6 6 7 9 6 9

3. Complete the grid by doing additions. (&»&8 egedore $&% &1 Bchod.)

100 235 658 809

300

457

486

713

© 0 ¢ 898
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E:W Regrouping word problem (s £e8)& $e $e0) I

1. Leena buys some roses at a shop. She has 120 roses after giving away 175 roses to her

friends. How many roses did Leena buy ? Oz £°Q) Sfersired 58, u 88 pirdod
175 Sferos ad)d SHard, 6 %% 120 Ferdirer sTnow. @D X Iwdo Ferdiren
AQ?)

Who buys the roses ?

How many roses did Leena give away ? s aQ) 8ereidn 835 drdHoh ad)de?)
What is to be calculated in the problem ? (& $50%56° O 8:508%5°97?)

What is the operation involved in this problem ?
(& D FEHE D BHRAHZ SBBrRoTD ?)

Sowmya collects 773 stamps. Her brother gives 286 more stamps. How many stamps
Sowmya had now in total ? (&g 773 Fodeots DEGoNE. 6D o) 286 T, B
3”&6:5 ach to 3;0?.’3)&» A ?7)

Thi H | T |O
Number of stamps Sowmya had 1o s
Ry 58 Ko Fode Koays) =
Number of stamps given by brother = + > 1g |6

BD OF) BY)S écgoo@ea Doy

Total number of stamps =

Sogo Fode Kogys

¢ @ .28 ®
o http aravathit r.com Signature of the Teacher
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S{Uom[e]e][ Reasoning (e°85%)

Raju went to a toy shop to buy 2 toys. He had ~ 1000 with him. The cost of the toys is
given below. Help him to solve the following questions. (ooes 2.8 &Pdye Soseesrdd 3§
2 ﬁ’:ﬁaée» ETOHE TN, & étg T 1000  &Tmow. a‘5°2§aée3 $8en 8o azécgeaagan. 808
B FHoHOE® B8 B Bahod. )

Toy Cost ~
) $8 (Srarcheost)
450
300

Remote car (83¢5 s°%) 08 650

-
Helicopter (3»9s36) -y 700

,_

Barbie (erg)) ‘ 250

1) Which toy costs more? (zrg), 88850 3ndo 8 dod?)

2) What is the total cost of both Barbie and Teddy bear? (ex8), 8%535@ Sodo P8
N0 ?)

3) List out only 2 toys which he can buy. (@& &350AS FS 2 FPlyen deei
oeaod.)

(@
hifedcher.com Signature of the Teacher
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ot
Toep a8 &K (oseerdE 3P 2 FPnen S'TroE . 98 $8 T 1000 exon. &Ky
$8en 8ods Biprrom. 808 (GO FHOHLE® B8 Ko BeHod.

) $8 (Brarshes®)
8(29555 450
Bew 300
B3oe5 S°B 650
PO 700
Q) 250

1) & &8y 58 28y God?

2) @rg), 8EE6o amdo $8 os?

3) 08 ESHOAS IJS 2 Flyen rdTe TPahod.

https://amaravathiteacher.com



ST [ Self Assessment ¢ga% $8059) I

1. Solve these (D& FoHod) :

18
+ 22

+

342
24

274
+ 475

2. Do the following and circle the answer rounded to nearest 100s. (S0 &0,

REPEETOD, B0 Dok W) HKod.)

a) 158+ 271
b) 481 +38
c) 874+111

400

400

800

3. Chinni has 75 marbles and Chitti has 23 marbles. If they mix those marbles how many
marbles will be there ? (%) %8 75 ffden, 08 ¢ 23 Fhen aamow. 8K S8 Bndo
A, 8ex &Ima0?)

500
500
900

300
600
700

4. One day 188 cars, 230 lorries and 115 busses crossed a bridge on the canal. How
many vehicles crossed the bridge in total ? (.8 &% $o88 188 =&, 230 evben, 115

2X)e0 TPEPoD. S0E0 Q) TPEPTPe) H0BID wEron?)

5. After selling 365 rice bags, 435 bags were remained in the godown. How many rice
bags were there in the beginning ? (2.8 Forsnd® 365 Sohe Hulge WS Shars 435

dohen DAY GIHow. 53365&5)3 Foednst A é)o‘ﬁa?go Qothen &Inow?)

® @ O

Poor

Fair

Average

Good

) D ol:l
amaravathitedacher.com
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6. Fill in the blanks (srde% Hr60S0&:):
) 4 2 [ ] b 2 47
R IR e e k

|:|57 43|:|

7. There are 450 kg of rice in a school. After getting a delivery of 275 kg of rice, the total

weight of rice become 725 kg. (Write the problem in mathematical equation.) (e.8

FEos® 450 Sdo HAigo eImow. (KRB0 275 Sde Halgo SBHT® BT @ 725 Sden

@dﬁ)vegow. &3 2626):6?3263 KBS ErHos® oocHod.)

8. Make a word problem using 245 and 375 (245 + 375 = ? & £ S8y oechod.)

9. Komaraiah sold 123 pots on Wednesday and 207 pots on Thursday. How many

pots he sold in two days? (8akg engardomrtd 128 Hofen @5, HHTEOT

207 Boen @Eﬁrécéa. &3 BotH 68%06: @813&26 Kok 260313?3 20e5?)

10. Pick any two number that give the total of 500 from the following numbers ? (& 3o

Sogge Swgo 500 ©HHOE’, 808 BS® HBoS08?)

254 320 400
100 170 115
246 385 180

& © 0 ...
http aravathit r.com
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1. Do the following.

H T O
1 2 4
- 1
H T O
6 3 7
- 4
H T O
8§ 1 6
- 5

2. Do the following.

a) 653-2=
b) Out of 469 mangoes, 8 mangoes were rotten. How many mangoes remained?

d) What is the 5th number before 125?

Poor

Faw

Average

!/amaravaﬁcher com a

mlm Subtraction of 1 - digit number from 3 - digit Numbers I
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S

2

1. 8o& S¥eo Rho&.

e

4

1

@o%o: 3 ©osv Yogg Hoo& 1 wos Jogy &3 I

So

exX

S0

exX

So

808 THE 235rz0en TPOHoA.
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SILMEOE  Subtraction of 2 - digit numbers from 3 - digit Numbersl

1. Do the following .

H T O H T O H T O H T O
1 6 8 33 9 5 9 2 6 3
-1 2 - 2 4 - 2 1 — 4 0

2. Answer the following questions:

a) After removing some coins from 799 coins, there remained only 75 coins. How many

are removed?
Sol. What are the things mentioned in the problem =
What should be find is the problem =

b) There were 285 trees in a farm, 45 tress are guava. How many trees are remained?
Sol. What about the problem deals with =
What is to be found =

What is the operation to do =

c) A vendor has 376 milk packets in the morning. At the closing time of the shop, there

are 35 only. How many packets were sold?
Sol. Number of milk packets in the morning =
Number of milk packets at shop closing time =

Number of milk packets he has sold are =

o @0 & & GO
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3 ©oSe Hogy Hod 2 woSe Hogy I (é(;:é S8 Q) I

1. 308 Bégeo D&,

S0 H = S0 H = S0 H & So H &
1 6 8 3 3 9 5 9 2 6 6 3
-1 2 - 2 4 - 2 1 -4 0

2. (Bod PHoH uzraoen a&.
. 799 B’ Q. TBen K0 BRS Edhaed 75 THeo DADID. wrHo W1S TeHen AY?

PES: (ozﬁa(o?gé‘s 5‘236& é@&@@ DD? =

KEE° D EHATD? =

o, a8 &ed® 285 Béy cavyow. B’ 45 rH ey eTmow. MifEeBEy IY?
PSS D BTD? =
D EHEH0? =

D BIBHD SHBPROTO. =

B a8 TR0 S8 eicho 376 re 5Bl aInow. FeHoER8 45 rgBden SR eTmom.
O VYN FoargBinen IY?

PES: &taho Ko are rgBtne bogyg =
PO00@°R8 Ko e aRgBERe Kogys =

@S e @ggée%gep Ddogyg =

o @ . htt’maravathger com Sigmatint of We Teachen

Poor Fair Average Excellent



SLILMENIEE  Subtraction of 2 - digit numbers from 3 - digit Numbers I

1. Do the following .

a) H T O b) H T O o) H T O d) H T O
1 8 8 2 4 5 3 7 9 5 7 8
1 0 7 1 0 2 2 1 4 1 2 4

2. Answer the following questions:

a) There are 361 soldiers in a battalion. There only 250 guns. How many guns are to be
added for the remaining soldiers?
The subject of the problem deals with =
What is to be found in the problem =

What is the process involved in the problem =

b) The cost of a photo is ¥ 380. If you have ¥ 270, how much more money is required?
The cost of a photo =
The amount that you have =

Required amount to buy the photo =

c) There are 476 pupils in the school. Out of them 245 are boys. How many girls are
there in the school?
Number of pupils in the school =
Number of boys in the school =

Number of girls in the school = Number of pupils — Number of boys.
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3 ©oSe Yogg Kol 3 woBe Sogy I (5;26 588 Q) I

1. 80 SHeo D08,

S0 H e S0 H & S0 D & S0 D e
1 8 2 4 3 7 5 7
-1 0 7 -1 0 2 -2 1 4 -1 2 4

2. 808 POE xsrenen TPOHod.

©) 2.8 28 KPS 361 Lod PGB &THD. F0S° 120 Hod PGB VeHP 2088 IYS,
BOS® D0 HOK AL ?

&

Jeerdo Bm? =
2 D05 DM B8O ? =
D (DED Tegoe B8y RO =

&) a8 98¢t e T 380. & 858 T 245 ISR STow. BOS® Jod Hay) wHHB0 ©HF0s?
e I -
& 8158 Ko te) =
(9]
BOS® WHIBHag ey =

8) a8 FEos® 476 H0H DTgien STHLD. ©oS® 245 06 erend @wond erdEen Do
Sood?
FEzost Ko o")m”?gt%eg Doy =
Bzt Ko erend Doy =
Bt Ko erdBe éosp?g = Sw&o 8):3*3?363@ 60&)5 — ePend ‘éoap?g
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111 M K1) (8 Subtraction of 1-digit number from 3-digit numbers (borrowing)

1. Do the following .

H T O H T O
I 1 2 3 4 5
= 4 = 9
H T O H T O
6 3 7 6
- 7 - 8

2. Answer the following .

a) 743-9=
b) Subtract 8 beads from 257 beads.
c) What is the difference between 7 and 404?

d) What is the 7th number before 519?

a . !/amaravaﬁcher com a
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3 ©oSv Yogg o0& 1 ©o8

Qogys 823 (3;26 5?69)&53)

1. 800 8Heo D08,

do b = do D = o D
I 1 2 3 4 5 4 4 6
— 4 — 9 — 7

do H = do D = o D
6 2 3 7 5 6 8 2 4
_ 7 — 8 - 6

2. 808 P8 2srenen TPOHod.

») 743 -9=
&) 257 $rHe $H08 8 Frden HVI0H08.

@) 404 LBan 7 Sy Do dod?

&) 519 8% Swoth soa 7 % Dogy d6?

0 .D D
- htmaravat
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MIMSubtraction of 3-digit numbers with regrouping |

1. Do the following .

H T O H T O H T O H T O
2 4 7 4 1 7 5 6 3 6 4 2
-1 5 9 -2 9 9 -1 9 8 -1 4 3

2) The cost price of a radio is ¥ 325. If Anand has ¥ 288, how much more money is
required to buy?
What do you understand by the problem(oral)? =
T 325 refers to =
What is to be found in the problem =
3) Rama rao is engaged to make 300 toys. If he makes 186 toys for now, how many
toys are there still to make?
What is Rama rao’s main work =
What do we find in the problem =
What operation is to be applied to solve =
4) Whatis the difference between the 3 digits biggest number and the 3 digits smallest
number?
3 - digit biggest number =
3 - digit smallest number =

The difference between the numbers =

O U
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3 ©oSe Yogg Kol 2 wo3o Sogy EIL (% $r8)88%) I

1. 308 Bé&eo DOHo&.

So H & S0 H =
2 4 7 4 1 7
1 5 9 -2 9 9

So H & So H &
5 6 6 4
-1 9 8 -1 4 3

o @ . htt’maravathger com

2. 28 &GP Jo X 325. @508 $¢ T 288 L@ eI, DEGr 5508 Bos° Jod

tSe) V8o ?
P B0y 180D D D BEPG?

T 325 398 5020080956

2625326?363 A é:éagegrav&

3. ordeoesy) 300 eS"aé)ée:o €§033°6030‘57°©263§°E&(‘§3. (@008 186 eS%’w&eD Eﬁﬁ@éﬁ)
BT TB°E. BOS® ) eS"&é;&eD BT DT ?

TPPTRsY) (GRS D S ?

) 253(0?365 S50 D é:éagséav‘é)?

a—

D (BB HD &dFBeA0D Jodgd FhodKwo =

4. 3 ®03® ‘éogp?ge)eﬁ’s & ?oig ‘éosp?gé), o8 DI ‘c()ospegéa B0 Dos?

3 ®08® éogp?goé‘s (12 "‘oacg E(:osp?g
3 ®08® E(Josp?gegée o8 D) E(Josp?s

E(Josp?SeJ 253(5?3 B0
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ml M Subtraction of 2 - digit numbers from 3 - digit numbers with regrouping |

1) Answer the following questions:

H T O H T O H T O H T O
2 1 4 4 3 0 7 1 2 8 6 6
- 4 5 - 5 7 - 3 9 - 7 7

Answer the following questions.

2) There were 212 people in a village. after some of them left the village, there are

only 98 people. How many People left the village?
The main theme in problem is =
What is to be found in the problem =
The operation, that required to solve the problem =
3) Siva read 98 pages out of 182. How many pages are to be completed?
What are the things in the problem =
Who completed the pages in the book =
What is the question to find answer =

4) In a basket of 138 guavas, some of the grimits where sold, and only 96 guavas

remained. How many guavas are sold ?
Number of guavas in basket =
Number of guavas remained =

Number of guavas are sold =

© O & @ .6
lamarava hiteacher.com Sigmatint of e Teachen
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3 ©oSe Hogg ol 2 wo3e Sogy I (3;26 $8)a8°%) I

1) 308 SHeo D08,

So H & So H = So H = So H =
2 1 4 4 3 0 7 1 2 8 6 6
- 4 5 - 5 - 3 -7 7

808 (BHoH aarawen Toohol.
2) 28 [rios® 212 Hod (Huen eI, Fod Hobd [P0 H6O IgE 98 Kod
BB G, o Hod ([P0 DED Igedo?
SN Jrardo &? =
D Eo8HD? =
&3 D5Jg PEIH @ (BB &dReAcTO? =
3) 8% 192 Do HHBoS® 98 Defen Lr(ED ) BEed. Do Q) Wweden SBTO?
HBBoS® Imdo A wedew sTmo0? =
DBBoS™ Q) vfen SHE? =
D (DB Tegoe S SgE esaren ERPHDHW)? =
4) 2.8 aw%@s 138 eposiory eTnom. @okhe® 5y Holy oy, sos° 96 $o($53%
OAD E&THOL. WA 2PN DY?
a)aéégéﬁ Ko ePH0g Sogy =
OADY &0 Doy =

@5tHRBoS ol Doy =

® © © » 6 . @
4 htmaravathi er.com Signatine of the T

Poor Fair Average Good Excellent




SULMENJU Subtraction by complimentary additionl

Do the following substractions

1) Inalorry, there is a chance to load 480 boxes. They loaded 295 boxes only. How many

more boxes are to be loaded?

2) By how much 315 is greater than 238?

3) A student got 280 marks. He wishes to raise upto 400 marks. How many more marks

should he get ?

4) A teacher has to correct 145 workbooks. She corrected 137 work books only. How

many more books should she correct?

a . !/amaravaﬁcher com a
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Sigmatint of e Teachen
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2)

3)

4)

P88 Hosodo TRoe 8238 I

808 H2ZBen Fa%Hod.

a8 08 480 1P HE ©IPEo wod. wond 295 1P Fe(ED IOTE. BoS Y
PP IOBDHE)?

218 832 315 Qo aéa&é?

28 Dregd 280 Hrdyen Hyow. 08 ©8H HrEne 40005 DOHETD ©HBIND.
BOS® ) Lretnen ©BSor wdk BX)Ead?

2.8 esarprgasnoren 145 $8zSeks $0UArd. e 137 $5mEen SrEd $8SrR0s. Bos®
A HGeEedy R HBErESD God?

" .‘3‘
= )

D
tpsfamaravat
Average Good
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1)

2)

3)

4)

SN KO Word problems subtractions

Jabeen collected 358 tamarind seeds. Mohan collected 529 tamarind seeds. What

is the difference ? How many more seeds Mohan collected than Jabeen?

What are the seeds mentioned in the problem =

Who collected the seeds =

Who collected more =

There are 850 hens in a poultry, among them 375 are sold. How many hens are
left ?

What about the problem deal with =

What is to be found =

Operation required to get solution is =

In a bike showroom, there are 475 bikes. Out of them, 175 are sold. How many
are left after sale ?

Number of bikes in the show room =

Number of bikes sold =

Number of bikes remained =

In a playground there are 475 audience. Among them, 234 audience are supporting

Team - A players. How many are supporting Team B?

lamarava hiteacher.com Sigmatint of e Teachen
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@o%o Al 8238 23 58 Sodge I

1) =295 358 Do Aoceen, IS 529 Dod Aomen DEBOTRE. RPeS, rhS Bods A

Aozen DEND DEBOTED?
2 00%58° Bd@ES Aoeen D =
QLBEB Aoasen DEBOTL =
BB LS DEBOTD =
2) 28 8% $0ES® 850 B¢ avnow. BSE° 375 Ehh elmh. sose A B DAD
&INo0 ?
2 D05 B HBod =
O Eo8%)ad =
D (BB Tegoe FHoBKeo =
3) a8 Irerth BHo WEros® 475 Fhen eamon. @ohE® 175 @kmiondd. sose HAD &
Q) Bden 2?
Lr & Ko BHe Doy =
eHRonsd BHe Sogys =
OADDR) BBre Koy =
4) a8 @eoéooé‘s 475 0 [§3§’§Lé3en (%5'&63. ©00S® 234 K0 A’ &échzéa woé&@a&&. 0S
'B' 36050 20D ST°B0LB?
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1) The cost of a saree is ¥ 700. But on bargaining, she purchased it for ¥ 575 only.

How much cost is reduced ?
(&8 H8 8 T 700 B8rore $Haed T 575 H 9 . dod day SR0SAIO?)

The cost of a saree =

oise’ S 55

The final cost of the saree =

DB BEF) DS &8

Reduced amount on bargaining =

BEJ o0& égoéaa&é )

2) In a sports shop, there are 600 bats. 350 bats are sold out. How many bats are left ?
(&8 ®& e $r5eeos® 600 argtnen Gomaw. @oie® 350 argtnen @8))&2655, BOS® A

egenen SHNO r%agon?)

3) A shirt costs ¥ 450, a trouser costs T 375. What is the difference between their prices?
(&8 &5 §8 T 450. a8 (b 8 T 375, & $8&° ko Dos?)

4) In a bakery, there are 380 cakes, out of them 195 are sold. How many are left?
(2.8 B86S° 380 Shew esTmow. ®oHS® 195 ©yS Bose A HADGOErAN?)

o /0
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1.

d)

2.

NN LU Making and solving some problems on subtraction
wodo : S1I D S B5r8 -85S

Prepare subtraction problems by using following pairs. One is done for you.
808 bl ade egrdorr &3S ISEVISI(OVI oV ey BoHod. 288 HEdio Sohealie.

(220, 365) (300, 206) (225, 625) (999, 100) (874, 427)
Ex : Out of 365 days, 220 days are working days. How many days are holidays ?

& : 365 Shered®, 220 Sfaren HQ Hren wawd 3o Seren Q. ?

A customer gives T 500 rupee note for a bill 0ofX 215. How much amount he gets back?

(&8 DIBHRTTED S BYoSHORS B8 T 215 8550 T 500 ). @8k 8BA LPoBHedI
565> Do ?)

There are 350 books in a shelf, out of them139 are kept aside. How many are there in
the other side ?

(&8 @88° 350 HYseen Gamom. @S 139 H¥sren 8B earon. HB°RD) &F) Hdseen
A ?)

) ®
htmaravathi er.com Sigmatint of We Teachen
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1) Fill
a)
b)
©)
d)
e)

mlm Problems on mental subtractionl

in the blanks.

What is the difference between 600 and 200?
Between 300 and 450, which one is greater and by how much?
How much 1s 555 more than 255?
900, 800, 700, 600, , ,
Number before 999 is

2) Observe, and fill in the circles.
16 - 8 17 - 9 18 - 9 25 - 8

16-6=10-2=28

3) Ex:

b)

[ 90

a) 500- 1= 499
342-1 =-341
158 (Hint : subtract “ 1 * from both subtrahend and minuend)

0 0 d 6 0
~2 3 -5 3

0 g 9 0
4 7 7 8

® © ©.0..6
h alk viteacher. ‘
amaravathieacher.com Sigmatint of e Teachen

Poor Fair Average Excellent



N 50,358 o5 Sotriddo |

1. grdeod 00508,
®) 600 LBAH 200 g B&o Jo ?
©) 450 $0akn 300 &%, HB 2LH? o 1EH? ,
2) 255 808 555 Qo L. ———
&) 900, 800, 700, 600, , ,
&) 999 Koot Yogy
2. 568903508, O 050 JrB0B08.
16 — 8 17 -9 18 — 9 25— 8

16-6=10-2=28

3. e (o) 500- 1 = 499
342 -1 =—341
158 (S8 @ Q&eifo , IBreee $08 ‘17 HDIcHo&.)

©) 30 0 &%) 6 0
_2 _

&) 7 0 o) 9 0
—4 7 -7 8

.8 ®
https#famaravathi er.com :
d Sigpatinre of We Teacker
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SN KU Subtraction by estimation

1) Round off to nearest 10’s
a) 63 isrounded offto 60 b) 18 isrounded offto
c) 54isrounded offto d) 78 isrounded offto
2) Round off to nearest 100’s
g) 112 is rounded off to 100 h) 142 is rounded offto

1) 272 is rounded off to J) 552 is rounded off to

3) Durga has 32 pens and Ali has 68 pens. Estimate the difference in their pens.

4) Kiran had some amount. Suguna gave him ¥ 100 and now he had ¥ 416. Estimate how

much amount he had in the beginning.

5) There are 590 eggs in a school. 280 were used for lunch. Estimate how many eggs are

left?

AN W
h g viteacher. :
lamarava hiteacher.com Sigmatint of e Teachen
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soiws bhas axe |

1. &H0 o SS0oWol.
®©) 63 D BP0 DHeBH JHBoDS 60 &) 18 K S0 Do SM0oDS
3) 54 O SH0 HeHedH JHBoDS &) 78 K S0 Do dM0oDS
2. &0 SodedH $8Botol.

®) 112 2 S50 Soded JH00DS 100 &) 142 o S50 Hoked DH00DI

8) 272 2 S0 Soked JHHO0NS &8) 552 o &0 HokeB JHHOONS

3) g B 32 Bigen eIHow. esd 58 68 DIgen BTN, 0 B Ko 1IXY P wosSe
S04,

4) 88% Eéeg §°0d e e0d. Loihee @BIE X 100 NS SBoard, @S Eéeg 3416 &H0. 53365&52
@3 étg K éanejzéa ©OST® FOHo&.

5) &8 ardzos® 590 HEy eamom. Jeepi) Sletod® 280 Ky edBrA0TD. Bose A
D5 GOEPET ©oSTe JAHos.
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ST EN O Self Assessment Sheet

1. Fill in the blanks.
a) In a subtraction problem, the minuend number must be bigger than its
b) 375+ =500
c) 700 + 200 =900 can be written as 900 -700 =200 and

2) Choose the right answer and write the correct answer in brackets.

a) What comes after 800, 750, 700, 650, ( )
a) 800 b) 700 c) 600 d) 500

b) What is the difference in tens of 372 and 459 is .....cccceeeeervennnneee ( )
a) 4 tens b) 5 tens c) 6 tens d) 2 tens

c) 405-250=__ « )
a) 155 b) 245 c) 200 d) 145

3) What is the wrong in the following problem? Explain and correct it.

a) 4 5 3 by 7 4 5
- 3 0 2 9 5
15 3 5 5 0

4) A villager donated 125 blankets to the poor in the last year. This year, he distributed

270 blankets. How many blankets are increased this year?

O
athiteAcher.com Sigmatint of e Teachen
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@o%o: ?osds:a 20805 I

1. grdeds $rooSos.

®) BBE SS® TS Doy pYBorr o go8 DY GoTd
) 375+ ~ 500
1) 700 + 200 = 900 &3 900 -700 =200 © 5605 ® (TPCHDE).

2. {3 JErerard) JoHE R, @ Srdodh ©Foed) (@P8RS® Trasnk.

®) 800, 750, 700, 650, SHard $3) Somg Q6 ( )
o) 800 &) 700 a) 600 &) 500
©) 459, 372 o gy 50 Do ( )
®) 4 HSoen ) 5 Hoew ) 6 Hoew &) 2 Heoen
a) 405-250=__ «C )
) 155 &) 245 a) 200 &) 145
3. &o& ‘é:ﬁaé?gezé‘s Qb SHyre BEB? DH00508, H8 BoHo&.
) 4 5 3 ) 7 4 5
- 3 0 -2 9 5
1 5 3 5 5 0

4. 28 (P 18 JoNE)Bo 125 iy, & Sodgywo 270 DETBE o BED.
S8 DOREB0o Q) LOD)ER @BFore BTNH?

o @ . htt’maravathger com Sigmatint of We Teachen
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6) In an apartment, there lived 158 people. Out them, 90 were male and remaining were

female. How many females were there ?

7) In a school library, Telugu and English medium books are as follows. But the details

are incomplete. Help the librarian to complete the following table.

S.No. Subject Telugu medium| English medium | Total books
1 Fun Math 120 180
2 Joy of Science 40 100
3 Pictors Stories 115 85
4 Magic 0 52
5 Total Books =

1) Which books are more in number?

2) What is the total number of books?

3) How many English medium books are there?

4) What is the difference in the number of both media books ?

o & @ @
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6. &8 oFFHot5E” Tmdo 158 Hob wotoTnB. TOS 90 ol HBen, wouS [Reo

DoBB?

7. &8 Fdeo (Hogrochos® &8 Benrh $Bun wof drigkod® 8od Diore Hseen e
BES S0 @éo?@vgom 6O0. Q@é 0§08, & éééé PB0SEoS® H5BaHo BoHos.

&.%0 EARSTovVIe) BeorH Seeino | Bofd Srgoo | oo HYsten
1 DI Kedso 120 180
2 K0y oo 40 100
3 ESHSEIASY 115 85
4 Soes8 0 52
5 Fw&o HIsPen

®) O HIYEen JENNP BIT00?
&) IWEO ) PYSeeD BINoN?
8) 2oAK Soee3gs )gEeen AY?

&3) Bokd 263065?325300 Ddse éosp?ge‘S‘S B850 os?

& O © &)
‘ | htmaravat
Good

Poor Fair Average
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hi X er.com &M« o e Teacken

Excellent




N1V ) (U8 Multiplication and its components |

Fill in the blanks.

a) The number to be multiplied is called as
b) The number with which we multiply is called as

c) The result obtained in multiplication is called as

Poor Fair

Average

Excellent

In multiplication 1 2 x 2 = 24 ; Multiplicand =
Multiplier =
Product =
Fill this table.
Multiplication Multiplicand Multiplier Product
5x8 =40
8 x5 =40
13 x4 =52
4 x13 =52
Fill in the blanks.
a) Multiplicand x = product
b) x multiplier = product
c) Multiplicand x multiplier =
@ O O O O O
o @ rgamaravcher.como Sigmatint of e Teachen




KHrease8o 5850 oSt Heroo I

1. goden HrdoBod.

®) HBosar Joggd 0T
®) KHeBod Soggd 0TS,
8) Desdo Hg 00K HOSY) 0EPED.
2. 12 x 2 = 24 Heasesos’; #oeago =
[ahtaciste) =
©g0 =

3. grden $rB0S0R.

(5e93°80) Ii:sago oo ©R0

5 x8 =40

8 x5 =40

13 x4 =52

4 x13 =52

4, grden Sr00B0&.

®) eago X = oo

&) X theedo = oo

5) eego X Hesdo =

® o ©
=/ ht

Poor Fair Average
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SN LN I Repeated addition (arrays)

Do the following.

1. Number of rows

Number of coloumns

Number of grids

Write multiplication fact

Number of rows

t’ Q, t, Q’ Q’ Q, Number of coloumns
BHBVVBVY

Number of balls

Multiplication fact

3. l ‘ ‘ l ‘ Number of rows _
l ‘ ‘ ‘ ‘ Number of coloumns .
‘ ‘ ‘ ‘ ‘ Number of leaves o

Multiplication fact

Number of rows
Number of coloumns

Number of mugs

ceee®
ceee®

Multiplication fact

©. 0. .6
h alk viteacher. :
amaravathieacher.com Sigmatint of e Teachen
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r AII a'sses!*em’? eR ! Eenqll%w Li

dDeriving new multiplication tables
Hoess HES Sied

1. Make table 7 by adding tables 5 and 2.

(5 HHB83» 2 &S &)S"’&_Oge 78 Dé&o BO5E DSHo.)

Table 5 (55 2%)0)

Table 2 (285 2%)0)

Table 7 (785 28)0)

2. Make table 8 by adding tables 6 and 2.

(6 HB8® 2 &S &)S"’&_@Jge 8% Dé&o BO5mE DSHo.)

Table 6 (655 2%)0)

Table 2 (285 2%)0)

Table 8 (8% 2%)0)

3. Make table 9 by adding tables S and 4.

(5 S8 4 &S &)S"’&_Ogs 95 Qé&o B058 BHod.)

Table 5 (55 2%)0)

Table 4 (45 d8)0)

Table 9 (95 2%)0)

a . !/amaravaﬁcher com a

Poor Fair Average Excellent
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Multiplication of 2-digit number by 1-digit number
2 ©o3e 5033526: 1 ®c8 ‘éospagé'a Hoeze80

Do the following. (808 & PoX&.)

a) T O
1 2
x 2

Fair

Average

b) T O
4 2
x 3

D glj
htmaravathi er.com

S
Good Excellent
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Multiplication of 2-digit number by 2-digit number
2 w03 26039526: 2 o3 26029556 feCi= i ete)

Do the following. 808 & Zc%08.

a) 24x17 b) 25x 24 ¢) 37 x 39
d) 39 x 54 e) 42 x37 f) 50 x 50
g) 58 x 58 h) 64 x 35 i) 68 x 68
i) 72 %34 k) 76 x 19 1) 84 x23

©. 0. .6
h alk viteacher. :
amaravathieacher.com Sigmatint of e Teachen

Poor Fair Average Goo Excellent




Multiplication of 3-digit number by 1-digit number
3 ©wo3e éospag:é: 1 ©c8 ‘éospagé'a feCai=iete)

Do the following. (8o& &9 FcHod)

a) 104 x 2

d) 200 x 3

g) 999 x 1

i) 221 x4

b) 222 %2

e) 313x3

h) 434 x2

k) 111 x4

D glj
htmaravathi er.com

Ss
Good Excellent

c) 385 %2

f) 342 x 2

i) 123x3

I) 101 x5

Sigmatint of We Teachen
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Do the following. (8o& &9 FcHod)

a) 220 x4

d) 100 x 0

g) 101 x7

i) 323 x3

m) 203 x 8

b)

h)

k)

Average

O
rgamarav

100 x 5

110 x 7

100 x 9

111 x9

101 x 5

Ql!iu
athiteacher.co
d

Goo

e
m

Excellent

) 110x5

f) 101 x 8

i) 243 x2

1) 1242

0) 111 x7

Sigmatint of e Teachen



a)

b)

N1 LM L O (8 Multiplication with 10 and 100
10 $8c5%» 1008 Koessedo

Do the following. (8c& & ¥c%08.)

14 x 10 = i)

19 x 10 = J)

45 x 10 = k)

37x =310 D

37x =370 m)
_ x10=350 n)

g)  x10 =480 0)
x 10 =750 p)

h)

Poor

37 x 100 =

59 x 100 =

64 x = 6400

39 x =3900
x 100 =7900
X =4500
X = 6000
X =

. htt’maravathger com Sigmatint of We Teachen
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Sub Topic: Oral Maths
S KB3do

Fill the tables (3880 Froosol.)

a) | Number of buses (290 Sosy)

Total number of wheels (Fxgo H(zre Sogg)

1

6

3
5
9

10

b) | Number of cars (5°8 Sogs)

Total number of wheels (Sxgo H(ro Sogs)

1 4
5
7
10
20
¢) | Item ($50) Cost of 1kg. Cost of Skg. Cost of 10kg.
Sugar (58)5) < 35
Rice (csgo) < 40
Jaggery (83¢0) < 45
Green gram (5e») <90
Red gram (o0& 2en) T80

® @ ©

Poor

Fair Average

!/amaravancher com a
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Multiplication : understanding word problems
heasPl 58 DY WIS

1. There are 12 tables in a classroom. Each table has 4 legs. What is the total number
of legs of all tables ?
(a8 8858 Kot 12 5&53 sTnon. (H8 BendH 4 smﬁaa aTnow. O 5@%& o Swgo
s*’%ﬁg AN?)
What information is given in the problem ? 3 $5056° 88 Sdwerdo dH?

What is to be found in the problem ? $%5356° o 8850 ?

Which process do you follow to solve the problem ?

& DBy FEEH D HBAHD ©HHB0TD?

2. There are S fingers in a hand. How many fingers are there for 15 hands.
(.8 288 5 3%6@ ST 0. 208 15 o Ko 3@’99 AQ?)
How many fingers are there in one hand?
a8 388 Ko Bty IY?
How many hands are there?
Ao Do Bogg dod ?
To get total number of fingers what should we do?

oo 3‘3%‘9 Bogy BHP6% D BeseD?

3 3 (109
o @ htt’maravathger com Sigmatint of We Teachen

Poor Fair Average Excellent




3. There are 3 blades in a fan. Find the number of blades for 20 fans.

a8 5o 3 BHew GaIo. o0& 20 P50 Y BHeo sotron?

Number of fans = 20
(3500 Kogg)
Number of blades to each fan = 3

(2,898 3508 Ko B Sogy)
Total number of blades for all fans = 20 x 3=

(0Q) FFoed Ko B Sogys)

4. A shirt has 5 buttons. Find the number of buttons in 5 shirts.
a8 T 5 Hoden €08, 5 T o Kode QBoggdo ézé;gs&o&?
Number of shirts =
(5°S°27® éosp?g)
Number of buttons to each shirt =
(eug‘gé& 5°S'°&§3 Ko Hobe 60&)5)
Total number of buttons for all shirts =
(e—9§0& 5"82@&) He oo ode ‘éosp?g)
5. A text book has 112 pages. Find the number of pages in 4 text books.
8 3°6§o"g)§§oé‘s 115 Sfen o0&, werod 4 3°6§o"g)§s‘°e>6s o Iwdo Do Sogy é:é:%‘sgo&.

O U
ttps//amaravathiteacher.com Signature of Hhe T

Poor Fair Average Good Excellent



Multiplication - word problems
Peasel 58 DYe WIS

The cost of a cap is ¥ 33. Find the cost of 3 caps.

(2.8 &*% I T 33 wand 3 hHe Jo Dos?)

The cost of a cap (&°%% Se) =

Cost of 3 caps is (3&%he o) =

The cost of one chocolate is T 3. Find the cost of 18 chocolates.
(a8 8¢5 Jo T 3 wond 18 wrgdio o Jod?)

The cost of one ice-cream is I 4. Lakshmi bought 23 ice-creams for her friends. How
much money she has to pay to the shop-keeper?

(.8 aSo S0 T 4 e;éé B3 Pdrde 85 23 oo e 0. 8 Heeriodd dod
&a) BYowO?)

Sirisha has 16 pairs of bangles. How many bangles she has all together?
(88% zscg 16 3¢5 reeen €T%)00. 0B & zscg e SwBo reere 02001? (22¢5=2))

A packet contains 10 candles. How many candles are there in 5 packets.
(&8 RgBEE° 10 BFHen earon. 08 5 J8dod® IR EsP@hen sotran?)

) e
htmaravathi er.com Sigmatint of We Teachen

Fair Average Good Excellent



Multiplication : word problems
Deese8 B JSoge FES

1. There are 24 sheets of papers in a pack. How many sheets of papers are there in 5

packets. (&8 apEESS* 24 HG eImom. 5 BSOS ) DI Gotron.)

2. There are 44 chairs in a row. Each chair has 4 legs. What is the total number of legs of
chairs in all? (28 Fend® 44 Lo aTow. 289 HEB 4 8 aIOW. VS O
B0 Ko o gy Y ?)

3. Raju distributed 4 chocolates to each student in the class. If there are 34 students, how
many chocolates were distributed in all? (ceer, S5K8S (K& Drses 4 weEéy Hod
B, © SEHBS® 34 H0d TRy ¢od, Iwdo HoDS TFeR Y ?)

4. The cost of a colour pencil box is I 56. Find the cost of 9 pencil boxes.

(8 806 S «°E) I T 56. ©ond 9 Eob 2S e I Dos?)

tps7//amarav

O
athiteAcher.com Sigmatint of e Teachen
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Multiplication - word problems (unit to many)
$ease8 HE Do FED

1. Every spider has 8 legs. How many legs are there for 24 spiders in all ?

(2.8 DD ‘8 8y Ty, 24 FOHH ImFo I Ly Gotrow ?)

2. A book's cost is T 80. What is the cost of 10 books ?
(2.8 HJBo o T 80 wawd 10 HIsPe 0 Jod ?)

3. Inamilkbooth, 42 milk cartons can be arranged on a shelf. If there are 15 shelves, how
many milk cartons can be arranged? (&.8 are Ssewod®, e @88 42 o L
©HBYHD). 15 08 ) o Kamod ©n)HEn?)

4. The cost of a bag is ¥ 43. Find the cost of 23 bags.
(28 D0 I T 43 ®ond 23 J0He I dos?)

o @ . htt’maravathger com Sigmatint of We Teachen

Poor Fair Average Excellent



SN L O (O Multiplication - word problems in daily life
tHesel Qe EDE H Shoge FES

1. Venkat saves X 65 per day. How much money will he save in one month?
(1 month = 30 days) (S08¢5 &%% T 65 oy TR, 3 I0E® @Bk FPeosy VKON
&2)) Qod?)

2. Annapoorna bought 79 sheets of colour papers. Cost of each sheet is I 25. How much
money she has to pay? (©)53°8 79 SorH 2% EHB. a8 Borh 2B o T 25 wowd

83 Qo0& Kay) BYowrO?)

3. There are 24 hours in a day. How many hours are there in 1 month ?

(2.8 8% 24 Kotren ®and 1 I A Hotren ? (13w =30 65we»))

4. There are 100 pineapples in a box. How many pineapples are there in 12 boxes.

(28 2FE* 100 oTK0HR eonow. 12 2PoS® Iwdo AR OTIHY Gotrow?)

(tps//amarav

O
athiteAcher.com Sigmatint of e Teachen
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SULMEY O Multiplication - word problems
PeasPy 58 Ddogen

1. Sophia collected and arranged 212 postal stamps in each chart. She has 4 such charts.
How many stamps are there with Sophia. (8805, .8 &°§&° 212 S35 JroSen @),
©erod 4 TPED SINOW. [P ¥ 3G Ko acgoa’g)e» A ?)

2. Each child has 2 erasers. If there are 14 children, how many erasers are there in total?

(8 2eaed HG 2 BBy Iow. 14 H0d YL J& Ko InFo BBy ) ?)

3. Each guava costs ¥ 3. How much does 1 dozen guava cost? (1 dozen = 12items)

(a8 220 Hoth o X 3 onTe, 2.8 Kad a2 HoF 0 Dod? (1 Kaxd =12))

4. Cost of 1 litre milk is I 50. If Raju takes 1 litre milk everyday for 1 week, find how
much he will pay for that week. (2.8 H¢t% e I T 50 @and Toer 2.8 aedo SPere Srén
2.8 H&d) FHPS Fo8 dod Kay) BYoTD.)

) ®
htmaravathi er.com Sigmatint of We Teachen
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LML Self Assessment I

Answer the following.

a) The number to be multiplied is called as

b) Multiplicand * multiplier =

c) The product of a number and zero is

Do the following.
a) 12x5 b) 23 x35 c) 24x10

Make table 12 by adding tables 10 and 2.

10

2

12

® @ O

In an answer sheet, one can write only 20 lines. How many lines can be written in 12

pages?

In a cinema hall, there are 23 rows and 32 seats in each row. Find the total number of

seats?

!/amaravaﬁcher com a

S«W e Teacken
Poor Fair Average Excellent 06




@o%o: ?osdﬁ: TAYeY<) I

1. 808 &8 Jdrgraren Trobod.

®) HBoST H) HOTY ©OLTED

®) Mego X DHeedo =

2) 2.8 Dogg $HBA HHo ©go
2. 808 A JHoSod

®) 12x5 = &) 23x35 = a) 24x10 =

3. 10 08c» 2 D ch'?TerSJ oo ooe 12 & Dé&o B5TE DHoA.

10

2

12

4 2,8 JHreed HEoS® 20 SHden LRERH Tohiwo. 12 $Ereed Herod® AR Hoden
oA 0?

5. a8 e Sens® 23 S80S Hdyen sImom. a8 BS° 32 Hbjen &od, wdo ©
AL Sens® Ko Hdjen I?

& © ©
el ht

Poor Fair Average

&
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Good
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6. Check the following solutions and what is your answers.

a) 42x 7 =2814

b) 204 x 9 =1836

7. Write 19 + 19+ 19+ 19 + 19 + 19 in multiplication form.

8. Answer the following questions by the data given below.

S.No. Item Price ¥ Number of Items Total Cost
1 Pen 5 12
2 Pencil 4 10
3 Book 15 18
a) How many pencils are there ?
b) What is the total cost of pens ?
c) What is the total cost of books ?
d) What is the total cost of three items ?
© & & G &
— https//amarava hited cher.com Sigmatint of e Teachen
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Average
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6. 80b KKy PP DOLrECE?
) 42 x 7 = 2814

@) 204 x9 = 1836

7. 19+19+19+19+ 19 + 19 % %8 ErHos® oocHod.

8. 3 Jrardo egrdorr 808 (DB Jirrraren TPadhod.

8. Jo. ENISVEV) Q8 F PVSPVIGS ‘éoaaé Swso B
1 25 5 12
2. NS 4 10
3. D380 15 18

@) 1Y) Sogyg N0 ?

@) YY) Jo 08 ?

8) o

Do I Qo ?

&) oot NP IJwEo Io Do ?

q,;/;'v "

Average

&
tpss#amaravat
Good

Excellent
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